November 18, 2014 Multi-Page™ Verbatim Court Reporters

Page 1 Page 3
1 CHAIRMAN: 1 that there was a change at 2004.
2 Q. So, | believe we are back to our continuation 2 MS. NEWBURY:
3 of yesterday’s exercise. 3 Q. Okay.
4 MS. PAULA ELLIOTT, (PREVIOUSLY AFFIRMED) CROSS- 4 MS.ELLIOTT:
5 EXAMINATION BY MS. JENNIFER NEWBURY (CONT'D) 5 A. Yeah
6 MS.NEWBURY: 6 MS. NEWBURY:
7 Q. Thank you, good morning. Good morning, Ms. 7 Q. Sothen, | takeit then from your question, if
8 Elliott. 8 it were corrected to refer to the year 2000,
9 MS. ELLIOTT: 9 that you saw that--when you looked at it, you
10 A. Good morning. 10 saw that the graph in the losstrend section
11 MS. NEWBURY: 11 show for BI evidence of an upward frequency
12 Q. Firstof al | want to refer to the questions 12 trend prior to 2000, and then a declinein
13 submitted by Oliver Wyman tothe Facility 13 frequency trend after 2000?
14 Association dated March 21st, 2014. It's 14 MS. ELLIOTT:
15 Question Number 11. And if you just scroll 15 A. Inthat range, that--in around 2000 - 2001
16 back, you can actually bring up the question, 16 areathat the frequency rate wasincreasing in
17 the--I think it’s at the bottom of the next-- 17 the older period, and then after that time
18 of the earlier page, the previous page. 18 there started to be a decline in the frequency
19 That's it, perfect. Thank you. Now Ms. 19 rate.
20 Elliott, | believe from your evidence 20 MS. NEWBURY:
21 yesterday you indicated that the reference 21 Q. Soaround 20007?
22 thereto 2004 was atypographical error, is 22 MS. ELLIOTT:
23 that correct? 23 A. Around 2000, and oneof thethings that’s
24 MS.ELLIOTT: 24 important to remember in Newfoundland which
25 A. Yes, that's correct. 25 makes it more difficult to identify was there
Page 2 Page 4
1 MS.NEWBURY: 1 was very large snowstorms in around that
2 Q. Okay. And the year that you intended to refer 2 period aswell. | think the frequency rate
3 to was 2000, the year 20007? 3 shot upto about 11 in that time period.
4 MS.ELLIOTT: 4 Right, in 2001 it was very high.
5 A. Yes, that's correct. 5 MS. NEWBURY:
6 MS. NEWBURY: 6 Q. Okay. Soif wejust scroll down alittle bit
7 Q. Okay, and now did you alert anyone to that 7 to see the response from the Facility
8 error, typographical error, before yesterday’s 8 Association to that, okay, so you're now
9 evidence? 9 pointing out--and | don’t know if we can make
10 MS. ELLIOTT: 10 that alittle larger there, the graph on the
11 A. Didwedothat? Well, certainly in my review 11 right, the actual fitted frequency. So you
12 before the hearing there I might have 12 can see that there are a couple of high peaks
13 discussed that, yes. 13 | guess you would call it?
14 MS. NEWBURY: 14 MS.ELLIOTT:
15 Q. Okay, there was nothing though to alert 15  A. Um-hm, um-hm.
16 Facility to the - 16 MS. NEWBURY:
17 MS.ELLIOTT: 17 Q. Andone is around the year, you're saying
18 A. No, | did not send afollow-up question. 18 20017 Isthat how you would read that graph?
19 MS. NEWBURY: 19 MS.ELLIOTT:
20 Q. Okay. Okay, and why isthat? Why wouldyou |20 A. Yes.
21 not have followed up with a question with the 21 MS.NEWBURY:
22 correct date? 22 Q. Okay.
23 MS.ELLIOTT: 23 MS.ELLIOTT:
24  A. |l read their response. I--my understanding 24 A. | think so, um-hm.
25 from their response was that they understood 25 MS. NEWBURY:
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1 Q. Andisthat--do you associate that with the 1 MS. NEWBURY:
2 winter of 2001 that you're referring to? 2 Q. Okay.
3 MS.ELLIOTT: 3 MS.ELLIOTT:
4 A, Yes, that's my recollection. 4 A, |thinkit'sextremely high and | think it's
5 MS. NEWBURY: 5 weather related, so it's unusual.
6 Q. Okay. 6 MS. NEWBURY:
7 MS.ELLIOTT: 7 Q. Okay.
8 A. Yes 8 MS.ELLIOTT:
9 MS. NEWBURY: 9 A. Yes
10 Q. Soit'syour evidencethen | takeit that the 10 MS. NEWBURY:
11 decline in the frequency started at that time, 11 Q. Soif you take that point out then if it'san
12 in 20017 12 outlier, and just thinking about it now from
13 MS. ELLIOTT: 13 the layperson’ s perspective -
14 A. lthink that thedecline inthe frequency 14 MS. ELLIOTT:
15 started before 2004, yes. 15 A. Sure
16 MS. NEWBURY: 16 MS. NEWBURY:
17 Q. Okay, now the--just thinking generally now 17 Q. -you're saying that alayperson should be
18 about your evidence yesterday, | had 18 ableto look at these things and see?
19 understood that the unusual winter of 2001 19 MS.ELLIOTT:
20 would really be an outlier? 1t would be out 20 A. | said that sometimes alayperson can do that.
21 of keeping with events typically in 21 MS.NEWBURY:
22 Newfoundland? 22 Q. Yes, youdid.
23 MS.ELLIOTT: 23 MS.ELLIOTT:
24  A. Therewasan enormousamount of snow atthat |24 A. Yes
25 time. 25 MS. NEWBURY:
Page 6 Page 8
1 MS.NEWBURY: 1 Q. Andsoif wetake out that particular point,
2 Q. Yesyes. 2 in terms of the frequency, how would the graph
3 MS.ELLIOTT: 3 look then to the layperson, is that high point
4 A. Yes 4 isn't there?
5 MS. NEWBURY: 5 MS.ELLIOTT:
6 Q. And| washereso | do recall that, but would 6 A. |think you'd start to seeif that was there,
7 that not be an outlier? 7 that thedecline started as| said, more
8 MS.ELLIOTT: 8 towards 2000 - 2001. That’'s how | seeit.
9 A. |think thefrequency rate isvery highat 9 MS.NEWBURY:
10 that point intime. | think it's - 10 Q. Butthat would depend on that high point being
11 MS. NEWBURY: 11 in there, wouldn't it? If it -
12 Q. Yes 12 MS.ELLIOTT:
13 MS. ELLIOTT: 13 A. No, if you drew it down sothat it was
14 A. Thehighest pointthat’s thereis2001-1 | 14 similar, more in line with the point at 2002,
15 believe isthe peak. 15 then--and then started to decline there, it's
16 MS. NEWBURY: 16 exactly what | said.
17 Q. Okay, and you wouldn’t consider then that to 17 MS. NEWBURY:
18 be an outlier? 18 Q. Yes, okay. Well | would suggest that if you
19 MS. ELLIOTT: 19 took out that high point in 2001, and put in a
20 A. |--sorry, | did not say that. 20 point that’s more similar to the prior year
21 MS.NEWBURY: 21 and the subsequent year, that that point would
22 Q. Okay. So you do--do you agree-is it an 22 be much closer to the existing red line that
23 outlier or is not an outlier? 23 was drawn in my Mr. Doherty?
24 MS.ELLIOTT: 24 MS.ELLIOTT:
25 A. lthinkitisanoutlier. 25 A. Well, | say that if you put it in, that that
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1 was closer to 2002-1. It makes my point. So 1 Q. It'sentered as an undertaking.
2 | mean, we're hypothetically saying, "What 2 MS.NEWBURY:
3 would it be if the snowstorm didn’t occur?" 3 Q. Oh,itisentered?
4 But | believe that there was an upward pattern 4 MS. GLYNN:
5 that was occurring from the’93. It'svery-- 5 Q. Yes
6 it's convoluted here because of wesather- 6 MS. NEWBURY:
7 related issues, but | think the decline 7 Q. That'sfine. Sothey arecaled | believe
8 started before 2004. We seethat in other 8 Undertaking 20 through -
9 provinces. Werelate it. Weseeit inthe 9 MS.GLYNN:
10 us, and werelate it to technology with 10 Q. Itwasall anundertaking.
11 vehicles, the safety measures that have been 11 MS. NEWBURY:
12 installed in vehicles. It takestime for this 12 Q. Oh,was itall part of one package? Okay,
13 to occur. Not every car is new on the road, 13 thanks. So Undertaking 20, and | would ask
14 but | believe that there' s arelationship with 14 that your refer to the first page of that,
15 vehicle safety and that the decline started, 15 which isbasically your insertionson the
16 you know, in around 2000 - 2001. 16 second page of Exhibit sD 2. And what you
17 MS. NEWBURY: 17 have done, Ms. Elliott, and thank you for
18 Q. Yes 18 that, you have circled the high points and low
19 MS. ELLIOTT: 19 points that you had previously excluded. Y ou
20 A. | don't believe that the pattern changed in 20 determined that these were appropriately
21 2004 as FA has presented. | think it was 21 excluded from your regression model. And I’'m
22 earlier. | think it's probably similar to the 22 going to request that you first of all go
23 other provinces that we're seeing. 23 through the points from left toright and
24 MS.NEWBURY: 24 identify the nature of the point, whether it's
25 Q. Okay. Andisthat the assumption that drove 25 a low-point exclusion or a high-point
Page 10 Page 12
1 your conclusion about thetrend, or did you 1 exclusion, and also identify the vaue
2 actually do any statistical analysis taking 2 associated with that particular point.
3 out for example that 2001 outlier just to see 3 MS.ELLIOTT:
4 how the regression statisticswould reveal 4 A Okay. I'm goingto need a little more
5 themselves on that point? 5 information because | can't quite see.
6 MS.ELLIOTT: 6 MS. NEWBURY:
7 A. Wdll | could do that, and we certainly have 7 Q. You might need to refer to thefirst page of
8 donethat. And if--yeah. 8 sD--the sD 1 through 4 Exhibits for this.
9 MS. NEWBURY: 9 MS. ELLIOTT:
10 Q. But you haven't presented it in this 10 A. Allright. Sothereis11-2, 7-2.
11 particular case thus far? 11 MS. NEWBURY:
12 MS. ELLIOTT: 12 Q. Okay, but--sorry, could you start with just
13 A. | haven’t been asked to present it. 13 reading from left to right, just to keep
14 MS. NEWBURY: 14 consistent through this? The first point on
15 Q. I’'mgoing to turn now to the exercise that we 15 your left that you've circled, | understand
16 finished with at the end of the day yesterday. 16 that would be 2003 H1?
17 And | believethe documentation has been 17 MS.ELLIOTT:
18 distributed to everybody. 18 A. Yes
19 MS. GLYNN: 19 MS. NEWBURY:
20 Q. Yes, it would be Undertaking 20. 20 Q. Andisthat alow point or a high point?
21 MS.NEWBURY: 21 MS.ELLIOTT:
22 Q. Okay, and I’m going to request that that be 22 A. That would be representing the change from the
23 entered as Exhibits-1"'m not surewe start 23 prior period of minus 40 percent.
24 with PE. 24 MS. NEWBURY:
25 MS. GLYNN: 25 Q. Yes, and what was that excluded because it's a
Page 9 - Page 12
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1 low point? 1 Q. Okay,and!'m-
2 MS. ELLIOTT: 2 MS. ELLIOTT:
3 A Yes 3 A. And chosen adifferent one.
4 MS.NEWBURY: 4 MS.NEWBURY:
5 Q. Oralow changein percentage? 5 Q. | will ask you abit more about that, but |
6 MS.ELLIOTT: 6 want to go through this exercisefirst for
7 A Yes 7 each of the four exhibits.
8 MS. NEWBURY: 8 MS.ELLIOTT:
9 Q. Yes. 9 A. Sure.
10 MS.ELLIOTT: 10 MS. NEWBURY:
11  A. Yes 11 Q. Soifweturntosb2.
12 MS. NEWBURY: 12 MS.ELLIOTT:
13 Q. Okay, and what is the value actually 13 A. Okay, al right. 2008-2, 302, it'sa low
14 associated with the data point that was 14 point, minus 33 percent from the prior period,
15 excluded? 15 and 11-2 again, 475, a 57 percent decrease.
16 MS.ELLIOTT: 16 MS. NEWBURY:
17 A. Four thirty. 17 Q. Andthat’sahigh point?
18 MS. NEWBURY: 18 MS.ELLIOTT:
19 Q. Okay, and the next point, if you go--moveto 19 A. Yes
20 the right? 20 MS. NEWBURY:
21 MS.ELLIOTT: 21 Q. Okay, and sD 3?2
22 A. 152005-1, 46 percent decrease and that value 22 MS. ELLIOTT:
23 is211, so alow point. 23 A. Sorry. Okay. All right, 2002-2, seven--no,
24 MS.NEWBURY: 24 315, the 50 decrease from the prior period.
25 Q. Okay. 25 MS. NEWBURY:
Page 14 Page 16
1 MS.ELLIOTT: 1 Q. Soisthat alow or ahigh?
2 A. And thenthe next point is2007-2, a 65 2 MS.ELLIOTT:
3 percent decrease, and that’ s 449. 3 A. That'salow percentage change. 2005-1, 211,
4 MS. NEWBURY: 4 it'sa 46 percent decrease, so alow point.
5 Q. I'm sorry, we'vehaving--can you speak a 5 MS. NEWBURY:
6 little louder? 6 Q. That's211?
7 MS.ELLIOTT: 7 MS.ELLIOTT:
8 A. Ohyes. 8 A Yes
9 MS. NEWBURY: 9 MS. NEWBURY:
10 Q. Thanks. 10 Q. Thank you.
11 MS.ELLIOTT: 11 MS.ELLIOTT:
12 A. I'msorry, yeah. Okay, four forty - 12 A. 2007-2, 449, a 65 percent increase, so ahigh
13 MS. NEWBURY: 13 point; and 2011-2 again, 475, and againa 75
14 Q. Okay, so the third point was 449? 14 percent increase, a high point.
15 MS.ELLIOTT: 15 MS. NEWBURY:
16 A. Right, that's 65 percent increase over the 16 Q. Andsb4?
17 prior period. Andthelast onewas11-2, 475 17 MS.ELLIOTT:
18 and a 57 percent increase.  So in this case, 18 A. 2007-2,it's448, ahigh point, 65 percent.
19 aswe acknowledged already, the percentage 19 Look at that--oh, | apologize. 2008-2, 302,
20 change approach you know was not perfect, and |20 minus 33 percent, and 11-2, 475, a 57 percent
21 we have reverted back tothe dollar point. 21 increase.
22 And the most earliest point that was excluded, 22 MS.NEWBURY:
23 in hindsight we could have not excluded that 23 Q. Okay. Sorry, can you repest that again?
24 point. 24 MS.ELLIOTT:
25 MS. NEWBURY: 25 A, Okay.
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1 MS.NEWBURY: 1 outlier,” | think they’d look at that. If
2 Q. Whatwas thefirst point on your left for 2 you' re asking me how would alayperson look at
3 exclusion on sD Number 4? 3 these points and know that they were outliers,
4 MS.ELLIOTT: 4 they’d haveto look at the percentage change
5 A. Oh, Il apologize, it'shard with al the Y and 5 from the prior period. That's how they would
6 the yellows. 6 do that.
7 MS. NEWBURY: 7 MS. NEWBURY:
8 Q. Yes 8 Q. Didyou make areferenceto 700? Wastherea
9 MS.ELLIOTT: 9 -
10 A. Letme doitagain. 2007-2, 267; 2008-2-- 10 MS. ELLIOTT:
11 sorry, thefont isvery small onthis. It's 11  A. Yes, you asked me how would alayperson look
12 very hard toread. 2008-2, 302, minus 33 12 at agraph, and I'm -
13 percent. 13 MS. NEWBURY:
14 MS. NEWBURY: 14 Q. Yes
15 Q. So--okay, sothe first ontheleft iswhich 15 MS.ELLIOTT:
16 year, 2007 H2? And what was the number 16 A. AndI’'m suggesting alayperson would look at
17 associated with that one? 17 the graph and look at the high point. | said
18 MS. ELLIOTT: 18 sometimes they could do that.
19 A. Four forty-nine. 19 MS. NEWBURY:
20 MS. NEWBURY: 20 Q. Okay.
21 Q. Okay. And then the next point excluded was? 21 MS. ELLIOTT:
22 MS. ELLIOTT: 22 A. That would be an example where | think
23 A, 1t's302, 2008-2. Havel got that - 23 sometimes they could do that. If you're
24 MS.NEWBURY: 24 looking at the pointsthat have the red dots
25 Q. Okay. Okay, sothefirst one wasahigh and 25 that we chose to excludeon a percentage
Page 18 Page 20
1 the second one was alow? 1 basis, a layperson would have to get a
2 MS. ELLIOTT: 2 calculator out, understand that we're looking
3 A Um-hm. 3 at the percentage change, and then choose
4 MS.NEWBURY: 4 those dots.
5 Q. Okay. Just going back now to sb--sorry, the 5 MS.NEWBURY:
6 first page of U20, which is there before you, 6 Q. Okay, soyou still stand by your position that
7 so it’s noted there that three of the outliers 7 these are actually outliers?
8 or excluded pointsthat you have identified 8 MS.ELLIOTT:
9 are actually above the line that isidentified 9 A. |stand by my positionthat we chose this
10 as your trend line, and only one of the 10 method hoping that that would finesse our
11 excluded points isbelow the line. Now 11 model, our approach, on a percentage change
12 yesterday in your evidence you indicated that 12 basis. I've acknowledged wetriedit. Not
13 a layperson should sometimes be able to 13 that great. You know it didn’t work. We have
14 identify outliers simply from looking at the 14 now gone back toa dollar basis. I've
15 graph. Now how would alayperson comprehend 15 acknowledged that if we usea dollar basis,
16 that you have alow outlier which isthe first 16 our losstrend rateisat a larger negative
17 one actually above the line? 17 than what we had calculated. So yes, you
18 MS.ELLIOTT: 18 know, | agree, you know in hindsight looking
19  A. | think my point if you want to refer to the 19 back the percentage change approach wasn'’t the
20 point how would a layperson decide that 20 best approach. Y eah.
21 something might be an outlier, | think they’d 21 MS. NEWBURY:
22 look at the 2000, the high point that’s up 22 Q. Okay. And now at thetime of course inthe
23 there, it's $700. And my point if you're 23 model that’s presented here in your report for
24 asking how would alayperson look at agraph 24 the Board, the exercise has actually resulted
25 and say, "Gee, this'--"that might be a 25 in the exclusion of three data point that are
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1 on the higher end? 1 that both pointsare effectively above the
2 MS.ELLIOTT: 2 line, but the exclusion of that point 2008 has
3 A. That'scorrect. 3 less of an impact.
4 MS.NEWBURY: 4 MS.NEWBURY:
5 Q. Yes, and only one below? 5 Q. Butyou'resaying that if you exclude a point
6 MS.ELLIOTT: 6 that’son theline, it doesn’'t matter, but
7 A. That'scorrect. 7 you've talked about having the balance
8 MS. NEWBURY: 8 approach of excluding ahigh and excluding a
9 Q. Whichwould tend to result in alower line or 9 low?
10 lower - 10 MS.ELLIOTT:
11 MS.ELLIOTT: 11 A. Yes. No,you're-
12 A Wdl- 12 MS. NEWBURY:
13 MS. NEWBURY: 13 Q. Soyou losethat effect?
14 Q. - or decreasing trend? 14 MS.ELLIOTT:
15 MS. ELLIOTT: 15 A. You'reabsolutely right, that both points are
16 A. | guessit’sa perspective because aswe said 16 abovetheline.
17 or | just stated, that if you use the dollar 17 MS. NEWBURY:
18 approach, and looked at the onesthat are at a 18 Q. Andif we turn to the next page, SD 1, you
19 high and thelow, weend up with a larger 19 have two pointsthat are above theline, one
20 negative overall trend. So not necessarily 20 that is-1"m not sureif it's ontheline or
21 what you have just said is correct. 21 perhaps slightly below the line, but it's
22 MS.NEWBURY: 22 very, very closeto theline.
23 Q. Wadll, I'mfocusing on this particular exercise 23 STAMP, Q.C.:
24 here. I’'m not looking at a comparison between 24 Q. SD2?
25 the dollar pointsand the changein value. 25 MS. NEWBURY:
Page 22 Page 24
1 I'mjust looking simply at thischange of 1 Q. sD3. Andoneisbelow theline, sothe same
2 value. 2 sort of situation where you seem to be
3 MS. ELLIOTT: 3 excluding more higher points than low points.
4 A, Wadll, | was hoping my comment would be helpful 4 Andon thefina graph, sD4,you havetwo
5 MS. NEWBURY: 5 pointsthat are abovetheline, one isvery
6 Q. Okay. But looking again at this particular 6 closetothe line, but it’s till above the
7 graph here, and seeing where those outliers 7 line. And of courseyou lose the balancing
8 were excluded, they are--if you look--aside 8 effect that you’ ve emphasized about excluding
9 from the one in around 2001, these are al the 9 highsand lowsin equal number, and you're
10 three of the highest points that you've 10 agreeing with that?
11 excluded, and only onelow point has been 11 MS. ELLIOTT:
12 excluded? 12 A. WdlI'm agreeing that we' ve taken the one
13 MS.ELLIOTT: 13 high point out that’s there. The other point
14 A. That'scorrect. 14 isvery closeto theline.
15 MS. NEWBURY: 15 MS. NEWBURY:
16 Q. Andif weturnto the next graph, sb 2, both 16 Q. Okay.
17 of the data points that you have excluded are 17 MS. ELLIOTT:
18 actually above your line that you' ve derived, 18 A. Yeah.
19 your trend line? One isslightly above, but 19 MS. NEWBURY:
20 the other iswell over. 20 Q. Andthere sno other lower point taken out to
21 MS.ELLIOTT: 21 balance?
22 A. Yeah, and in fact the result is really 22 MS. ELLIOTT:
23 indifferent to the exclusion of that point 23 A. Um-hm.
24 because it's effectively on theline. We get 24 MS. NEWBURY:
25 the same answer either way, but you'reright 25 Q. Andyou didn't, as| understand it, do any
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1 sort of statistical tests to confirm your 1 percentage change approach. In hindsight, we

2 decision to exclude outliers? Y ou' ve designed 2 think staying with the dollar approach that we

3 an approach, in fact you designed the approach 3 had used previously was a better approach for

4 well before your report for May 20147 It'san 4 a variety of reasons. Andyou know, we

5 approach that you've used frequently, amost 5 acknowledge now that if we had used the dollar

6 al thetime. Every year you have high points 6 approach, our findings would have shown a

7 and low points that you’ ve excluded? 7 lower loss cost trend rate, and we have used

8 MS.ELLIOTT: 8 this approach of taking out two high and two

9 A. Thisisnot from May '14. 9 low so that we have a stable approach in our
10 MS. NEWBURY: 10 review of loss trend rates that we do each six
11 Q. Oh, but you've referred to this - 1 months.

12 MS.ELLIOTT: 12 MS. NEWBURY:
13  A. Yes 13 Q. Ms. Elliott, if you can turn to the page, the
14 MS. NEWBURY: 14 second page of Undertaking 20 and look at your
15 Q. -inyour May 2014 report? 15 first exclusion, your first data exclusion
16 MS.ELLIOTT: 16 which isa low of 2008 H2. Is that a
17 A. Yes 17 statistical outlier?
18 MS. NEWBURY: 18 MS.ELLIOTT:
19 Q. So it's incorporated into your May 2014 |19 A. It'sthelow percentage change over the period
20 report? 20 that we're looking at. So welook at the
21 MS. ELLIOTT: 21 percentage change and we were excluding the
22 A. That’scorrect. 22 two low percentage changes and the two high
23 MS. NEWBURY: 23 percentage changes. That's what's those
24 Q. Andyou didn't change itin your May 2014 |24 points are.
25 report? 25 MS. NEWBURY:
Page 26 Page 28

1 MS.ELLIOTT: 1 Q. Sol understand onyour model that it isa

2 A. No, uh-uh. 2 point that you’ ve decided to exclude, but my

3 MS.NEWBURY: 3 question, is thereany sort of statistical

4 Q. Okay, so you'veendorsed thisapproach for 4 support for that exclusion? Isthere atest

5 your May 2014 report? 5 to show that thispointisnot a point that

6 MS.ELLIOTT: 6 typically would happen? That's what |

7 A. Wehave used the losstrend ratesthat we 7 understood an outlier was.

8 derived from our board line--guideline loss 8 MS.ELLIOTT:

9 trend rates, yes. 9 A. It'sthe approach that we've used. We' ve used
10 MS. NEWBURY: 10 the--we have excluded two high and the two low
11 Q. Okay. And would you agreethat none of these |11 points.

12 excluded points are true statistical outliers? 12 MS. NEWBURY:

13 They’'re basically data points that you've 13 Q. Okay.

14 excluded based on your model of excluding 14 MS. ELLIOTT:

15 highs and lows? 15 A. That'swhat we've done. There'snot atest
16 MS. ELLIOTT: 16 that says that excluding the two high and the
17 A. No,| wouldn't agreethat noneof them are 17 two low is-it'san averaging approach that
18 true statistical outliers, no. 18 we've used that we hope smooths out the loss
19 MS. NEWBURY: 19 trend rate.

20 Q. Okay. And--but you haven't done any tests, 20 MS. NEWBURY:

21 any testing to verify whether or not they are 21 Q. Okay. But there'sno statistical test that

22 statistically speaking outliers? 22 has -

23 MS.ELLIOTT: 23 MS.ELLIOTT:

24 A. |--we havetaken an approach wherewe exclude |24 A. Thereis-

25 thetwo highand thetwo low. Weused a 25 MS. NEWBURY:
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1 Q. - been used by you to support that? 1 the approach that we used to exclude those
2 MS.ELLIOTT: 2 points. That'swhat they are.
3 A. No, it's anapproach that we've used to 3 MS. NEWBURY:
4 incorporate stability. We take this average, 4 Q. Okay. Now the problem is of course you end up
5 wedo it four different ways, we incorporate 5 excluding data points. | know that you've
6 our selection from the prior period. We're 6 derived it from the percentage change from the
7 trying to take a responsive and stable 7 previous season, from the previous year, but
8 approach. 8 you end up excluding a point that’s basically
9 MS.NEWBURY: 9 right in the midst of therest of the data.
10 Q. So your emphasis, your objective here is 10 It seems to betotally in keeping with the
11 stability, and not necessarily identifying 11 rest of the data.
12 outliers as you' ve described them yesterday? 12 MS.ELLIOTT:
13 MS. ELLIOTT: 13  A. Yeah, and you'reright. So when you take away
14 A. Our approach isto provide aloss cost trend 14 apoint that's on the line, you really don’t
15 rate that we think is stable and responsive to 15 get much impact from removing that point.
16 the data. The data as we stated yesterday is 16 You'reright.
17 not credible, it'svery volatile, it'svery 17 MS. NEWBURY:
18 challenging. So what we'retrying to do here 18 Q. Buttheimpact that you get isthat your model
19 isestimate alosscost trend rate that we 19 is based on excluding highs and lows equally?
20 think is reasonable, reflective of what we' ve 20 MS.ELLIOTT:
21 been doing inthepast. That's what we're 21 A. Our mode is providing, you know, an estimate
22 achieving to do here. 22 of excluding thetwo high percentage changes
23 MS. NEWBURY: 23 and thetwo low percentage changes. | know
24 Q. You've described outlier yesterday, and | 24 I'm repeating myself, but in hindsight we
25 guess I’'m having great difficulty trying to 25 think taking the dollar approach would have
Page 30 Page 32
1 understand your points that you've drawn in on 1 been preferable. We' ve reverted back to that.
2 the graph ascompared with your evidence 2 I’ve expressed and I’ ve provided to you that
3 yesterday. | can’t seem tofit the two 3 if we use adollar approach, we get alarger
4 together. So yesterday for example you said, 4 negative trend rate. And you know, in
5 "So if you take all your data and you run--try 5 hindsight we tried something and as |
6 tofit alineto it, and maybe you have a 6 expressed, it didn’t work and you know, we're
7 really good fit, but you’'ve got one piece of 7 trying to look at the data and try things, and
8 data that's different from the actual 8 in hindsight it didn’'t work. So -
9 experience, isrealy why it's much higher or 9 MS. NEWBURY:
10 much lower, whatever the case may be, you 10 Q. Ms. Elliott, the percentage change approach--
11 consider that an outlier." But if | look at 11 it was the percentage change approached that
12 that first point there, it's right on the 12 you used. From what | understand you've
13 line. It doesn't seem different from the 13 referred to it in your December 2012 and your
14 experience at all. 14 June 2012 Trend Report for the Board, for the
15 MS. ELLIOTT: 15 Newfoundland Board, and you' ve also referred
16 A. Yes. Solet merepeat myself again. The 16 toit in your May 2014 Report. It's the
17 points with the red dots are the high and the 17 underlying basis for your conclusionsin your
18 low on a percentage change. Our approachwas |18 May 2014 Report. What happened in 2013, did
19 to exclude on afive-year basis the one high, 19 you prepare any reports that used a different
20 the one low percentage change, and on aten- 20 approach?
21 year basis, the two high and thetwo low 21 MS.ELLIOTT:
22 percentage change. That’swhat we choseto 22 A. Yes, weused adollar approach.
23 exclude, and one commonly calls those points 23 MS. NEWBURY:
24 that we exclude--you know, you make different |24 Q. Okay. Andwhy whenyou did your May 2014
25 decisions to why you exclude them, but that’s 25 Report did you revert back to the percentage

Discoveries Unlimited Inc., Ph: (709)437-5028

Page 29 - Page 32




November 18, 2014

Multi-Page™

Page 33 Page 35

1 change approach? 1 Q. But aertingthe Board and alerting other

2 MS.ELLIOTT: 2 participants in the hearing that you now have

3 A, Wedidn't revert back toit. In our review of 3 a-you now would look at this differently.

4 theratefiling it’s appropriate that if FA 4 You would not now look at the percentage

5 choosesto use thedata asof theend of 5 change?

6 December 2012 and that those loss trend rates 6 MS.ELLIOTT:

7 were provided for the guidelineloss trend 7 A. FAwas provided a copy of our report for their

8 rates were provided to al insurers as a 8 comment. FA--my understandingis the Board

9 basis. When we test ratefilings to be 9 provides FA a copy of all ourloss trend
10 consistent and fair with all insurers, we 10 reports. They have an opportunity to comment
11 would use the same numbers. If we had chosen |11 onthose. They have an opportunity to read
12 to revert back, asl expressed, we'd havea 12 them and acknowledge that there was a change
13 larger negative and so the 20-odd percent rate 13 from percentage basisto adollar basis. This
14 increase that we have provided as what we find 14 isnot new information at al. It's been
15 reasonable, would be even lower. So | don't 15 provided to FA in the past.
16 think that would be fair to FA for us to do 16 MS. NEWBURY:
17 that. 17 Q. Butyou're now saying in the hearing yesterday
18 MS. NEWBURY: 18 and | guesswe had a hint of it on Friday when
19 Q. Ms. Hlliott, you've emphasized in your 19 you provided some additional charts with the
20 evidence and there’s been a significant 20 dollar values. That’snew information to the
21 emphasisin the questions put to Mr. Doherty 21 participants in the hearing that you would now
22 both in, you know, the written questions and 22 prefer the approach of looking at the dollar
23 answersand the examination here about the 23 values, and you would not now focus on the
24 changein Facility’s approach between this 24 percentage change.
25 hearing and the last hearing, the last rate 25 MS.ELLIOTT:

Page 34 Page 36

1 application, sorry. Andyou | believe have 1 A. |think me, sitting here, and articulating

2 been critical of the fact that there have been 2 that quite clearly | hope, that we changed to

3 changes in the approach and there seemsto be 3 adollar basis, | think if you're an actuary

4 some reluctance when an actuary changes his or 4 reading the report, you would see that and

5 her approach or in fact the Facility has 5 read it, butif you're asking me that that

6 different actuaries and there’ s been a change 6 subtle change that the Board read our report

7 in approach, but herein the midst of this 7 and understood that correctly, | don’t know.

8 hearing you’ ve changed a significant, | would 8 | can’t speak for the Board, but it isin our

9 suggest a very significant feature or element 9 reports. We made achange. |f you read our
10 of your approach, and infact not only have 10 reports, you' Il understand it. If you don’t
11 you changed it inthe midst of the hearing, 11 read the reports or not concerned about it,
12 from those looking at it from our perspective, 12 you won'’t know that.
13 butit’'s been after the evidence has been 13 MS. NEWBURY:
14 given by Mr. Doherty. 14 Q. You've asosuggested that thereason for
15 MS. ELLIOTT: 15 changing thisis because the approach of the
16 A. I'msorry, | haven't changed anythingin the 16 change of the percentages between consecutive
17 midst of the hearing. I’ ve acknowledged that 17 seasons, it's difficult to follow, and that
18 reports that we prepared as in June 2012 and 18 the dollar basis exclusion is cleaner and
19 at December 2012, they were different than the 19 everyone call follow it, but 1 would suggest
20 report we prepared previously. And then since 20 that it’s more than just the comprehensiveness
21 that time for our reports using data as of 21 of your approach. You actually end up with
22 June 2013 and December 2013 changed. The |22 different outliers. Y ou end up with something
23 change did not occur in the middle of this 23 that looks a bit peculiar to most people. You
24 hearing at any point in time. 24 have outliersthat are often above your line,
25 MS. NEWBURY: 25 and more high outliers than low outliers.
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1 MS.ELLIOTT: 1 A. | hopeitis. That was theintent, that the
2 A As | expressed, we thought this might be 2 reader could see that it was footnoted, you
3 helpful because we'retryingto measure the 3 know, with the high/low and we had a footnote
4 percentage change. That’s what the loss trend 4 to that, what that meant, so | hope the reader
5 rateis, what the change isfrom period to 5 read it.
6 period. Sothe approach was to seeif we 6 MS. NEWBURY:
7 excluded the high percentage change and the 7 Q. Okay,and| guess!|’'m just comparing it with
8 low percentage change, perhaps that would 8 the--1 guess the emphasisin this hearing and
9 finesse the model. In hindsight, we 9 the questions leading up toit. | mean, Mr.
10 acknowledge there' s difficulties with it, so 10 Doherty’s explained, but he'sbeen asked in
11 we've reverted back tothe dollar basisfor 11 detail and it seemslike what is requested of
12 excluding the high points and the low points. 12 him is an elaborate explanation, a very
13 It's easier for people to understand. That’s 13 detailed explanation of each and every change
14 - 14 from this hearing to the previous rate
15 MS. NEWBURY: 15 application.
16 Q. And Ms. Elliott, in your reports--in your 16 MS. ELLIOTT:
17 report to the Board, where do you describe the 17 A. Wdl, | canlist off atleastfour or five
18 changein your approach? You saidit was 18 changes that FA has made from its prior
19 obvious for peopleto read that? Where do you 19 approach to thisratefiling. | don't think
20 insert that in your report? 20 you can--I think thisis achange that we've
21 MS. ELLIOTT: 21 made, we've acknowledged the change. The
22 A. There's afootnote in thereports at the 22 changes that we have outlined that FA has made
23 bottom of it, you know, in the section that we 23 are quite substantive, including the reform
24 reference that thisis a change from our prior 24 factor change.
25 approach where we exclude the high-lows, 25 MS. NEWBURY:
Page 38 Page 40
1 that’ s provided. 1 Q. Andbut your footnoterealy isa passing
2 MS.NEWBURY: 2 comment on your change and not the same sort
3 Q. Andinyour 2013 reportsto the Board, do you 3 of elaborate explanation that has been
4 then identify that you’ ve changed back to the 4 requested of Mr. Doherty?
5 dollar-value approach? 5 MS. ELLIOTT:
6 MS.ELLIOTT: 6 A. Wadll,if theusersand readers of our report
7 A. | cannot remember at this point exactly what 7 would have aquestion on that, we would have
8 we said, | don't know. 8 been more than happy to discussit or explain
9 MS. NEWBURY: 9 it.
10 Q. I’'mgoing to request that you check the 2013 10 MS. NEWBURY:
11 reportsto see if you have identified there 11 Q. And referring now to Page 1 of caowood, and at
12 that you’ ve reverted back to the dollar-value 12 the bottom page--the bottom paragraph, and
13 approach. 13 we've referred to thisyesterday but I'll go
14 MS. ELLIOTT: 14 back toit again because this isof some
15 A. Okay. 15 importance. You state at the bottom, "for
16 MS. NEWBURY: 16 this reason we modeled the data severa
17 Q. Okay. | guessthe concern, if you've put that 17 different waysin an attempt to identify the
18 information in afootnote as opposed to, you 18 underlying trends during the experience period
19 know, going into more detail when you've 19 with and without certain data points that are
20 changed your approach, whether you're changing |20 considered to be statistical outliers, and
21 from dollar value to the percentage change or 21 over time periodsthat arelonger than the
22 from percentage change back to dollar value, 22 experience period as ameans of increasing the
23 isthat enough emphasis or description of that 23 stability, reliability of the data being
24 particular change? 24 analyzed." So againyou're referring to the
25 MS. ELLIOTT: 25 excluded data points as statistical outliers,
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1 but yet you've not been ableto provide or 1 we have the approach that we have, trying to
2 point to any statistical test that has been 2 make it both responsive and stable.
3 performed or could be performed to 3 MS.NEWBURY:
4 substantiate that. 4 Q. But how doesthe mechanical, and | think that
5 MS.ELLIOTT: 5 meaning is intended because it certainly seems
6 A. Yes asl said, the approach that we' ve taken 6 to be a mechanical approach. If you
7 isto exclude the two high and the two low on 7 mechanically take out two highs and two lows,
8 a percentage basis or on adollar basis. That 8 how does that eliminate the volatility in the
9 is the approach that we present in our report 9 data, especially when we look at situationsin
10 of what we're excluding. 10 your Undertaking 20 where you're eliminating
11 MS. NEWBURY: 11 points that are right on the line. That
12 Q. Yesterday inyour evidenceyou said "l don’t 12 doesn't seem to be taking care of any
13 think there’ s a statistical approach that I'm 13 volatility issue.
14 going to reference. It'sthe approach that 14 MS. ELLIOTT:
15 we' ve taken to try to smooth out the effect of 15 A. Asl said, we do think that going back to the
16 the highs and the lows." The extremes we are 16 dollar approach, in hindsight now, is better.
17 taking--I don’t have--there’ snot a name for 17 We're doing that now. We acknowledge that if
18 it. 18 we had used the dollar approach, where you
19 MS. ELLIOTT: 19 would definitely have the highs and lows that
20 A. That'scorrect. It'staking the two highsand 20 were excluded, you get a larger negative
21 thetwo lows, we--there' snot, asfar asl 21 trend. | think the intention isto smooth out
22 know, aname for that. That's the approach 22 theloss trend rate that’s calculated. We
23 that we' ve taken, that’ s our judgment. 23 can't eliminate the volatility in the data, it
24 MS.NEWBURY: 24 isthere, but it's an attempt to smooth out
25 Q. And now that you've reverted back to the 25 the points that are included in the regression
Page 42 Page 44
1 dollar-value approach, you still have the same 1 model and see what that losstrend valueis
2 mechanical approach of excluding two highsand | 2 that you calculate.
3 two lows for the ten years, and the one high 3 MS. NEWBURY:
4 and one low for five years? 4 Q. Andintermsof reverting back to the dollar
5 MS.ELLIOTT: 5 value, there's nothing to show that you've
6 A. | think the word mechanical might have a 6 done any statistical analysis to verify
7 meaning that’s not intended, but we do, on a 7 whether the excluded points are indeed
8 consistent basis. We try to present our 8 outliers. So we could end up with the same
9 reports so that they are stable, and so what 9 typesof problemsthat we haveright here,
10 we dois takea ten year ending--in this 10 where you have lows above the line and -
11 particular example, aten-year ending December |11 MS.ELLIOTT:
12 12, aten-year ending June 2012, we exclude 12 A. No, youwouldn't.
13 the two high and the two low. WE do the same 13 MS. NEWBURY:
14 with the five-year data, excluding the one 14 Q. How would you know that if you don't do the
15 high and one low. We cal cul ate those results, 15 test?
16 then welook at what we selected, the prior 16 MS.ELLIOTT:
17 report, and we averagethat in. Andwe're 17 A. Becausewe would look at the--we have the
18 trying to present alost cost estimate that is 18 fitted and the actual values.
19 stable from report to report. This datais so 19 MS. NEWBURY:
20 volatilethat if we, you know, did different 20 Q. And how would you know whether or not they are
21 things each time, we would have very different 21 true outliersif you' ve actually excluded them
22 numbers. We would have areport that onetime |22 before you' ve done your regression?
23 is -5and the nexttime is +5 every six 23 MS.ELLIOTT:
24 months, and that’ s not really a good measure 24 A. Well, wedotheregression including al the
25 of what the changing costs are. So that’ s why 25 data points and we do the regression excluding
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1 data points. So we would know. 1 summary of the R-squares, if we could have
2 MS.NEWBURY: 2 that on the screen, please.
3 Q. Butyoudon't presentthat, and you haven't 3 MS.NEWBURY:
4 presented it for the Board. 4 Q. I’'masking about the P-values.
5 MS.ELLIOTT: 5 MS.ELLIOTT:
6 A. | could present it for the Board. 6 A. | know.
7 MS. NEWBURY: 7 MS. NEWBURY:
8 Q. Yeah, but you haven't done that? 8 Q. Do youunderstand the P-value information
9 MS.ELLIOTT: 9 that’s here on this exhibit?
10 A. If | wasasked, | would. 10 MS.ELLIOTT:
11 MS. NEWBURY: 11 A. | do,yes.
12 Q. And you haven't done any P-values or T- 12 MS. NEWBURY:
13 statistics or look at the residuals, any of 13 Q. Canyouexplainit?
14 the types of exercisesthat Mr. Doherty does 14 MS. ELLIOTT:
15 when he looks at that? 15 A. lamgoingto. If we could have the R-square
16 MS. ELLIOTT: 16 report up, please? Thereisit, great. So
17 A. |l dodothat. | do- 17 thereference, if | believe, isto theten-
18 MS. NEWBURY: 18 year ending December 2012 report. We've
19 Q. Butl haven't seen any for. 19 provided here the lost cost trend rate at -1.7
20 MS. ELLIOTT: 20 percent. The severity trend rate hereis+1.9
21 A. Well, youdidn't ask for it. 21 percent, and the frequency trend rateis-3.6
22 MS.NEWBURY: 22 percent, and the combination of -1.7. And one
23 Q. Okay, but it was only now that | have learned 23 of the thingsthat's important to remember
24 that you’ ve reverted back to the dollar value 24 when you're looking at a R-square, whichisa
25 approach. 25 quoted or (phonetic) or an adjusted R-square,
Page 46 Page 48
1 MS. ELLIOTT: 1 is that sometimes that value can be
2 A. Well, maybe Mr. Doherty could have told you. 2 misleading, and inthis case we have to
3 MS.NEWBURY: 3 remember that the lost cost is made up of the
4 Q. I’'mnot surethat it was clear to people that 4 frequency and the severity. So even though we
5 you've reverted back to an approach when we 5 might be referring in alot of our discussion
6 get the exhibitson Friday afternoon. And 6 here, what we're looking at it lost cost. It
7 just referring back now to your Undertaking 20 7 really isfrequency times severity gives you
8 and to Mr. Doherty, as the one who has 8 thelost cost. So in this case, when we look
9 provided the P-values for your different 9 at R-square, the R-squarefor the frequency
10 models, and looking at those P-values, what do 10 is, you know, relatively good. The adjusted
11 you think of these four modelsbeing used in 11 R-square is.5788, it's superior--dlightly
12 your regression analysis? 12 better--1 shouldn’t use that word, anyone
13 MS. ELLIOTT: 13 shouldn’t--dlightly better than FA’s model at
14 A. Sothisisthe oneyou have up here of five 14 5222, The severity trend, at 1.9 there’'san
15 year? Sorry, isthisthe five-year--I want to 15 R-square, and the severity trend, this is
16 match up--five year ending - 16 where we have that volatility in the data, up
17 MS. NEWBURY: 17 75,000 average amount, downto 35,000--very
18 Q. Sosbiistheten-year ending December--well, 18 tough to fit that data. So when we look at
19 it's2012-2. 19 the models, we see that the R-square here for
20 MS. ELLIOTT: 20 this ten-year model is point--the adjusted R-
21 A. Okay. |think toanswer that--okay, so | 21 squareis .05, but that’s not really agood
22 think the point was that when we look at--can 22 measure of that model, because you can see the
23 we scroll to the top so | can see what this 23 frequency is good, the severity is so/so, the
24 report is, please? All right. Thank you. | 24 severity is so/so for everything. So that is
25 want to present an exhibit where we showed a 25 what you should focus on. So when you look at
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1 the lost costs and the adjusted R-square, it's 1 regression model that we run. We look at lost
2 poor, but that’ s not what we should be looking 2 cost, frequency and severity and those
3 at. We should be looking at the frequency and 3 statistics. So | don't think that saying that
4 severity which combined get alost costs, 4 we don’t look at them is correct.
5 those R-squares. So whenyou look at the 5 MS. NEWBURY:
6 regression stats on alost-cost basis, and you 6 Q. Now you've mentioned that the frequency and
7 look at the P-value and you look at the T-test 7 severity, you multiply them to get your lost
8 and the R-square, when you have one trend 8 cost? Do you actually do a separate
9 going up and onetrend going down, you're 9 regression analysis of your lost cost, or do
10 going to get close to zero and that lost cost 10 you take your regression -
11 statistics are goingto be poorer, but the 11 MS. ELLIOTT:
12 underlying statistics for the frequency and 12 A. Werun al three at the same time.
13 severity that make up that lost cost trend 13 MS. NEWBURY:
14 will be reasonable, as we' re looking at here. 14 Q. Youdo do aseparate regression analysis?
15 So it’simportant to keep that in mind. So we 15 MS. ELLIOTT:
16 go back tothe P-test that was referenced. 16 A. Wdl, not separate. All three are done at the
17 The P-value, if you're seeing--1 understand 17 same time, instantaneoudly, all three.
18 the standard that FA likesto useis.05. So 18 MS. NEWBURY:
19 the P-value and R-sguare value or the adjusted 19 Q. Okay, but do you take your results from your
20 R-square values--you can see them there, 20 severity and multiply it by your frequency in
21 they’re highlighted and they match what we 21 order to get your regression statistics for
22 werejust looking a inthe chart that we 22 lost cost?
23 prepared. They are not good, but they’ re not 23 MS. ELLIOTT:
24 afair comparison. Thereal comparisonisto 24 A. Wéll, welook at the regression statistics for
25 frequency and severity. Soyou may look at 25 frequency, we look at the regression
Page 50 Page 52
1 these stats and say, oh, isn’t that horrible, 1 statistics for severity and welook at the
2 why would you use that? And the real answer 2 produced, as in this case, regression
3 isthat we'renot using that. We'relooking 3 statistics for lost costs.
4 at the frequency trend, which isdeclining, 4 MS. NEWBURY:
5 and we're looking at the severity trend that’s 5 Q. What doyou mean, the produced regression
6 increasing, and the two combine separately 6 statistics?
7 make up the lost cost trend. So when you want 7 MS.ELLIOTT:
8 to look at your model and understand the 8 A. Wdll, they'rein front of you.
9 results. It'sflawed to just look separately 9 MS.NEWBURY:
10 at the lost cost stats if you have two 10 Q. Okay.
11 underlying trends that are in different 11 MS. ELLIOTT:
12 directions. 12 A. So whenyou run an Excel model, you can
13 MS. NEWBURY: 13 incorporate regression statistics, which we
14 Q. Now Ms. Elliott, | understand that it's been 14 do.
15 the approach of Facility to look at that, but 15 MS. NEWBURY:
16 it seems that our approach isto focus on the 16 Q. Refer to cAowo001, and the bottom paragraph of
17 combined severity and frequency trend, and in 17 that page--sorry, Page 3. Okay, and thisis
18 this case here you have a situation where your 18 your trend report and this isa generally
19 P-valueis not good for what--for the combined 19 commentary about the consideration of
20 results. Should that still not mean that this 20 severity, frequency and lost cost trend
21 isnot reliable? 21 patterns, and you state that "in selecting
22 MS. ELLIOTT: 22 past and future trend rates by coverage, we
23 A. I’'msorry, perhapsyou didn't hear me when | 23 typically examine the separate trend patterns
24 was just explaining that we look at the 24 for claim severity and claim frequency, and
25 frequency, we look at the severity inevery 25 then combine the selected severity and
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1 frequency trend rates to arrive at a selected 1 paragraphto time periods. You're talking
2 lost cost trend rate. However, our review of 2 about the reluctanceto look at it separately,
3 the severity and frequency trend patterns over 3 the frequency and severity separately, because
4 the recent pasts suggeststo usthat we may 4 differing time periods might not result in
5 not fully reflect the correlation that 5 something logical, but | don’t see areference
6 seemingly exists between severity and 6 here to time periods at all, and why could you
7 frequency, if we select severity and frequency 7 not look at severity and frequency separately
8 trend rates over different time periods. For 8 using the same time periods?
9 this reason, we tend to select past and future 9 MS.ELLIOTT:
10 trend rates by directly examining the trend 10 A. Wedolook at frequency and severity and lost
11 pattern for lost cost.” 11 cost using the same time periods.
12 MS.ELLIOTT: 12 MS. NEWBURY:
13 A. Um-hm. 13 Q. Okay. I'mgoingto request that you provide
14 MS. NEWBURY: 14 the P-values and T-statistics for the separate
15 Q. Okay. So thisseemsto suggest that you're 15 reviews that you've done on frequency and
16 focusing on a combined approach and that you 16 severity for each of your regression analyses
17 don’'t look at the separate approaches anymore. 17 that you’ ve produced. (REQUEST)
18 MS.ELLIOTT: 18 MS.ELLIOTT:
19 A. Yes. Wdl, | apologizea hit. If you're 19 A. Okay.
20 reading it that way, that was not the 20 MS. NEWBURY:
21 intention. | think the message that we wanted 21 Q. You have provided some reports recently to the
22 to get across herewas that if you use 22 Nova Scotia Board and | understand that you're
23 different time periods to--maybe if you use 20 23 approach might not have been the same for
24 yearsfor severity and 5 years for frequency, 24 Newfoundland. Did you ever, for Nova Scotia,
25 that you can find a mismatch, that there may 25 rely upon the percentage change approach?
Page 54 Page 56
1 not be correlation--you' re missing something 1 MS.ELLIOTT:
2 between the impact of what might be happening 2 A. Tothe best of my recollection, no, but |
3 with severity and what might be happening with 3 would have to check. I’'m not positive.
4 frequency. Say for example if the frequency 4 MS. NEWBURY:
5 isreally high because there's a--you know, a 5 Q. Wadll, | wouldrequest that you just verify
6 bad winter, and often those claimswill be 6 that. (REQUEST) And what would be your
7 smaller claims, more bumper claims, and so 7 rationale in using a different approach to the
8 often the severity might drop when the 8 Nova Scotia Board as your report to the
9 frequency goes up, because there’'s more small, 9 Newfoundland Board?
10 little bumper claims. So if we use different 10 MS. ELLIOTT:
11 time periods, maybe, you know, along period 11 A. Intermsof Nova Scotia, there's adlightly
12 for severity and a short period for frequency, 12 larger volume of data. As | mentioned
13 you can kind of get amismatch of the data 13 yesterday, the Newfoundland commercial is our
14 So what we were trying to express hereis that 14 most challenging piece of data to work with.
15 we want to look over the same time period, but 15 There are only, roughly, for bodily injury,
16 our model, which we've been using for along 16 about 120-odd claims ayear. It'svery small.
17 time, caculates, at the same time, the 17 So we take adifferent approach, adlightly
18 severity trend rate, the frequency trend rate 18 different approach in Newfoundland, and in
19 and the lost cost trend rate all together. So 19 each province. Wedo something different in
20 when | look at it, it’sall on the screen, all 20 Ontario, Alberta. They’'reall different.
21 three of them. | don’t just look at lost cost 21 MS.NEWBURY:
22 and | don't just look at frequency and 22 Q. But how would using apercentage approach
23 severity; | look at all three. 23 address thefact that you have a smaller
24 MS.NEWBURY: 24 samplein this province?
25 Q. | don't see any reference here in that 25 MS.ELLIOTT:

Page 53 - Page 56
Discoveries Unlimited Inc., Ph: (709)437-5028



November 18, 2014

Multi-Page™

Page 57 Page 59

1 A, Wdl, I think, asl expressed, that we were 1 scroll down abit to show therest of that

2 trying to find away to do the best job we 2 answer. Haveyou had your chanceto read

3 could, we thought that might help. Itisthe 3 that, Ms. Elliott?

4 smallest volume of data that we're working 4 MS.ELLIOTT:

5 with. [It's something that wetried, and | 5 A. Yes.

6 acknowledged that wetried it and we think 6 MS. NEWBURY:

7 that doing what we previously did is better. 7 Q. Okay, thanks, and now in this, | understand it

8 MS. NEWBURY: 8 that you’' re saying that you could run a 20-

9 Q. And wouldn’t thefocus on the percentage 9 year trend if you thought that your datawas
10 change from one period to the next really be a 10 large enough and stable enough, but that’s not
11 focus on the noise, the fluctuation in costs 11 the situation herein this province, but
12 from year toyear, and not onthe overal 12 generally speaking your thought is that large
13 trend? 13 data can be used or alonger period of data
14 MS. ELLIOTT: 14 can beused. Now | just want to refer to Page
15 A. Wdl, that's the idea, that whenyou have 15 4 of your report, the CAOWOOL1 report on Page
16 noise in your data or volatility--there’' sthe 16 4. Inthefirst paragraph there, you note
17 old expression "noise and signal” that came 17 that "while the five-year period is a
18 from work--in radio frequency work, but when |18 reasonable time period for determining the
19 you have noise in your data, which we clearly 19 underlying trend rates for the property
20 do have here in Newfoundland because of the 20 damage, collison and comprehensive
21 small volume, trying to exclude a large 21 coverages." Inthe paragraph below, you say
22 percentage change or alow percentage change-- |22 that "dueto volatility of the data and the
23 theideaistotry to minimize those extreme 23 l[imited number of claims, in this review we
24 percentage changes from what you're trying to 24 also considered the indicated lost cost trend
25 measure, the year-to-year change, what is the 25 rate over the 10-year period ending December

Page 58 Page 60

1 percentage change in costs over time. 1 31st, 2012, and selecting lost trend rates for

2 MS.NEWBURY: 2 the property damage, collison and

3 Q. I'm justgoing to referto your evidence 3 comprehensive coverages."  So while |

4 yesterday when you stated that you can run a 4 understand your typical approach isto look at

5 20-year trend, if the dataislarge enough and 5 five-year periods for property damage,

6 stable enough, but that’s not the case with 6 collision and coverage, it was the volatility

7 the data here in Newfoundland, and you don’t 7 of the data and the limited number of claims

8 run 20 years because you don't have that 8 that prompted you to expand your time period

9 large, stable database? 9 to ten years. Now why would you not take the
10 MS. ELLIOTT: 10 same approach that for bodily injury, if
11 A I'msorry, | - 11 you're looking at aten-year period of time?
12 MS. NEWBURY: 12 You gtill have volatility inthe data, you
13 Q. | canrefer tothe exhibitif youwish. I'm 13 still have limited claims. Why not expand the
14 not sureif the exhibit is available to refer 14 period of timeto 20 years or 15 years?

15 to. Thisis theexhibit from--or not the 15 MS.ELLIOTT:

16 exhibit, the transcript from yesterday, is 16 A. You know, there are judgements, as we
17 that available? 17 expressed, there are judgements that actuaries
18 MS. GLYNN: 18 makein choosingto select thetime period
19 Q. Wedo have it electronically, we don’'t have 19 that they’re going to use, what exclusions,
20 paper copies. 20 they have to consider the uncertainty of the
21 MS.NEWBURY: 21 data. Soin this case we wanted to ook at
22 Q. Okay. Page77 and starting at line 16, | 22 what happens over ten years. It'sa very
23 believe. I'll just give you a moment to read 23 small volume of data, so we choseto look at
24 the questions starting P.77, line 16, and your 24 ten years. Thereisapoint in time where you
25 answer tothat question. Perhaps we can 25 beginto question what am | measuring back
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1 from 1993 to 1998--that’ s sort of the first of 1 look at them, but FA is saying that these P-
2 the five of the 20 years that is presented by 2 tests and T-tests are statistically, you know,
3 FA. You know, I'm sure | said yesterday 3 significant. And so therefore FA is saying
4 there’sno harmin looking at it, that’ sfine, 4 that the P-tests and the T-tests are strong,
5 but when you go back to 1993 and 1998 and you 5 and that the reforms caused accident benefits
6 have to ask yourself iswhat’ s happening there 6 cost to reduce by 73 percent and you know--the
7 relevant to 2015--like where do you draw the 7 P-test and the T-test are right, they're
8 line? We could go back 25 years, and is that 8 significant, and I’'m going to accept that, and
9 really relevant? And so the actuary hasto 9 | don’t agree with that approach. | look at
10 make some judgement where you draw theline of |10 it and say does this make intuitive sense? Is
11 what you're going toinclude inyour loss 11 it reasonable? Canl redly tell to a
12 trend model, and if we had 20 years of really 12 consumer that your costs reduced by 73 percent
13 solid, stable data, yeah, you could run that 13 of thereforms in AB? And they’re goingto
14 and you could run five years and say, gee, | 14 say to me, well, did you reduce my premium by
15 get the same answer, you know, I'm getting a 15 73 percent because the cost went down? Well,
16 really good fit. That’snot the case here, 16 the answer isno. Nobody came in--no rate
17 and | had presented--we went through with the 17 filer camein with areduction in cost for AB,
18 yellow highlights yesterday how it went up and 18 anywhere near that or at all. Nobody camein
19 down and up an down, and having more of that 19 with areduction for BI of 37 percent. Nobody
20 noisy data, volatile data, am | really going 20 for private passenger, commercial, nobody, but
21 toget an answer over 20 years? I'm not 21 FA is saying that the P-tests and T-tests are
22 certain of that. 1’m not certain you get a 22 strong and reliable, and that’ s what the data
23 better answer using more data that’s highly 23 says. | disagree with that approach. It's
24 uncertain. And even last year FA said they 24 flawed. It’snot intuitively reasonable that
25 can't determine a loss trend rate for 25 this occurred. So you can look at any P-test
Page 62 Page 64
1 severity. Thisdata is so volatile, so 1 and T-test you want and say it’s significant
2 unstable, we can’'t do it. So they could have- 2 and it’s perfect, but does it make any sense?
3 -they had 20 years, they could have had more 3 And | think you haveto look at it and ask
4 years, and their choice was to say, you know, 4 yourself does it make sense, and | say it
5 uncle, | give up, | can’'t get one model that 5 doesn’t.
6 I’m happy with, and we agree. | mean, that’s 6 MS. NEWBURY:
7 why we take an averaging approach, becausewe | 7 Q. Ms. Elliott, on that point, you were involved,
8 know--we exclude one data point, alittle bit 8 wereyou, inthe--any reportsgivento the
9 shorter thisor that, weget a different 9 Board or any expertise regarding the reform in
10 number. So you can chooseto use 20 years, 10 2004, either before or after the reform was
11 but | don’t think in this case you' re getting 11 introduced?
12 a better answer. 12 MS.ELLIOTT:
13 MS. NEWBURY: 13 . l'was.
14 Q. Butyour statistics could determine that. | 14 MS. NEWBURY:
15 mean, you could look at the 20 years and do 15 Q. Okay, andwasit your understanding that one
16 what FA has done, which isidentify different 16 of the objectives of the reform was to reduce
17 trendsin that period of time. 17 lost costs, which would result in areduction
18 MS. ELLIOTT: 18 of premiums?
19 A. Youcanlook at statisticsall you like. I'm 19 MS. ELLIOTT:
20 an actuary, | look at statistics and they have 20 A. Yes. That wasthe plan, yes.
21 value, but you havetolook atit: arethey 21 MS.NEWBURY:
22 reasonable? And areally good casein point 22 Q. Okay. Sothat wasthe plan, andin light of
23 isyou look at the P-test and the T-test for 23 your conclusion--your own conclusion that the
24 the reform factor that FA has presented--we're 24 2004 auto reforms had no impact on the trend
25 not going to pull those up on the screen and 25 for lost costs, then would this suggest that
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1 the auto reform was afailure, at least asit 1 not really a matter for me to have an opinion

2 relates to the goal of reducing lost costs? 2 on whether the legislation wasa success or

3 MS.ELLIOTT: 3 now. You know, that’s a separate issue.

4 A ldon'tthink I'minaposition to describe 4 MS. NEWBURY:

5 the reformsin any which way. The reforms are 5 Q. Butyour point just amoment ago isthat you

6 what they are. 6 can'tjust look at the P-valuesand the T-

7 MS.NEWBURY: 7 statistics, and you' re saying you have to look

8 Q. Why can't you describe that? | mean, you're-- 8 atit andis it reasonable to expect that

9 from an actuarial point of view? 9 there would be areduction in the lost costs?
10 MS. ELLIOTT: 10 And I'm thinking that’s exactly what the
11  A. Because there' s other things beyond just what 11 expectation would be. That would be the
12 the numbers say to say that they're afailure. 12 whole--or one of the points of the auto reform
13 | don’t know how it impacted other parties and 13 isto reduce lost costs.
14 other affected industrieswithit. Perhaps 14 MS. ELLIOTT:
15 they were a success because--you know, because |15 A. Um-hm, and I'm telling you with private
16 of the change tothat. So to describe 16 passenger auto experience, the severity, the
17 something like apiece of legidationas a 17 P-tests and T-tests show you that there was no
18 failure, that’s not my area of expertise. So 18 impact, and so you haveto say with alarger
19 | won't comment on your opinion that it was a 19 body of datain Newfoundland, the same cars on
20 failure. 20 the same roads in Newfoundland, and there's no
21 MS.NEWBURY: 21 savings on the private passenger datawhich is
22 Q. That’snot my opinion. It wasaquestion. 22 more stable, not as volatile as the commercial
23 MS. ELLIOTT: 23 data, we're not seeing it there. Then you
24 A. Well, it'snot my opinion, either. 24 look at asmall volume of commercial data,
25 MS. NEWBURY: 25 which isvery volatile, and here is says

Page 66 Page 68

1 Q. Okay, butmy questionwas did it fail to 1 there's a37 percent savings. That just

2 achieve the objective of reducing lost costs? 2 doesn’t make any intuitive sense at all.

3 MS. ELLIOTT: 3 MS.NEWBURY:

4 A. Wehad estimated, and | do not have that at my 4 Q. Wadl, it would make intuitive senseif you're

5 fingertips but--that there would be a small 5 expecting there to be areduction in the lost

6 savings for these reforms. They were 6 costs. | mean, the fact that the test

7 different than the reforms in Nova Scotia and 7 wouldn’t -

8 New Brunswick, where a very substantial 8 MS.ELLIOTT:

9 savings was introduced because they had a cap 9 A. We certainly are not expecting 37 percent
10 onthe painand suffering award. In this 10 reduction in Bl,nobody is expecting that, and
11 province, withthe $2,500 deductible, the 11 nobody is expecting 73 percent reduction in
12 expectation was that the severity would change 12 AB, nobody.
13 dlightly, that it would go down because of 13 MS. NEWBURY:
14 that deductible. That’s not evident in the 14 Q. Andwhat about the reduction in frequency? |
15 private passenger data at all. We're not 15 mean, there's two issues here.
16 seeing that. You know, inany of thetests 16 MS. ELLIOTT:
17 that have been run, itis not there. That's 17 A. No. Certainly our opinion isthat the decline
18 unfortunate, and certainly it would be my 18 in frequency happened well before the reforms,
19 opinion that if nobody can see itin the 19 and anybody that’s plugging in a reform
20 private passenger data, then it certainly--the 20 parameter into the frequency--because it was a
21 savingsisn’t going to be in commercial data. 21 deductible change, that you're going to get
22 What' s being provided with significant P-tests 22 $2,500 less, and the anecdotal sort of
23 and T-tests that there' sthis big savingsin 23 comments that you hear is that people probably
24 commercial of 37 percent on BI and 73 percent 24 inflated their claimsto offset some of this
25 on AB, there’ saflaw inthe model. Soit's 25 $2,500 deductible, and so we're not seeing the
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1 savings. We don’t have any evidence of that, 1 a 15 percent amount, and I’m going to request

2 but that’ s kind of the common thinking. And 2 that you undertake to review the report that

3 so it wasn't that they said, oh, | was going 3 you produced at that time to verify what that

4 to go to court because I'velost wages and 4 amount was that fell under that $2,500

5 everything else, and now I’m not going to go 5 deductible level. (REQUEST)

6 because | get $2,500 less on my deductible, 6 MS.ELLIOTT:

7 I’m going to sort of embellish my pain and 7 A. lwill try to do so, yes.

8 suffering to try to offset that $2,500 8 MS. NEWBURY:

9 deductible, but I'm still going forward to get 9 Q. Okay, thank you. Just aquestionor two on
10 my wage loss. I’'m not not going forward with 10 the loss development factors. There was some
11 my claim because of this deductible imposed on |11 discussion of that yesterday morning in your
12 your pain and suffering award. You're going 12 evidence, but | want to refer to you May 16th
13 to court to get your wage losses, you’ re going 13 report at Page 11.

14 to court to get extra money to pay for 14 MS. GLYNN:

15 chiropractors and massage therapists and other 15 Q. That'sFacility’s report, thisis--you want

16 medical benefits or attendant care; it’s not 16 Oliver Wyman's May 16th report?

17 about the deductible that’ s stopping you going 17 MS. NEWBURY:

18 forward. 18 Q. Yes

19 MS.NEWBURY: 19 MS. GLYNN:

20 Q. Well, what about the claimsthat are valued 20 Q. Isthat theright page?

21 less than $2,500? Were there not a number of 21 MS.NEWBURY:

22 claimsthat fell into that category which, if 22 Q. I'mnot sure, bear with me for amoment. Yes,

23 eliminated, would reduce the frequency? 23 that’ s correct, so it actually starts on the

24 MS. ELLIOTT: 24 bullet on the previous page, Page 10. If we

25 A. Right. It'svery rarein my working knowledge |25 can just scroll there to get the full context.
Page 70 Page 72

1 that someone goesto court to get apain and 1 So it states here "both FA and Oliver Wyman

2 suffering award of--say it was $3,000 and 2 independently select the claim count and |oss

3 there was nothing else attached with it. They 3 development factors that apply to the industry

4 normally go in and they’re saying 1I'velost 4 CV experience data as of December 31st, 2012,

5 wages, | had to go to the chiropractor, | had 5 but the factors selected by FaA differ from

6 to hire someone to help me clean the house and 6 those selected by Oliver Wyman. However, with

7 cut the grass because someone else hit me, and 7 the exception of AB, accident benefits,

8 so | need to be compensated for that, and at 8 discussed below, we find FA's selected

9 the same time, | should be given some pain and 9 development factorsto be reasonable." Sois
10 suffering. And so maybe my pain and suffering |10 that still your position, that the selected
11 before was only worth $3,000 and they’regoing |11 development factors, with the exception of AB,
12 totry toget alittle bit more, but that 12 are indeed reasonable?

13 doesn’'t stop them going forward with their 13 MS. ELLIOTT:

14 claim to get compensated for their wage losses 14 A. Welooked at the loss development factors that
15 and other heads of damages that they require. 15 FA selected, and inlooking at them and the

16 MS. NEWBURY: 16 averages that were provided, when we looked at
17 Q. Ms. Elliott, did you identify a percentage or 17 them, we couldn’t quite follow what they were-
18 an expected proportion of claims that would 18 -like, how did they pick those? They weren’t
19 have actually fallen under that deductible 19 too far off what was provided at the very--you
20 amount of $2,5007 20 know, they have a bunch of different averages,
21 MS. ELLIOTT: 21 al-year weighted average, geometric average,
22 A. My understanding was the closed claims study 22 but it didn't match up, andas | showed

23 would have had some of that information, yes. 23 yesterday, it appearsthat FA selected the

24 MS. NEWBURY: 24 GlIsA factors that are based onlosses and

25 Q. Ms. Elliott, it's my understanding that it was 25 alocated loss adjustment expenses, although
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1 FA states that it selects them on just the 1 you'retrying to understand why do we have
2 losses. So there’'s a misstatement there. And 2 this difference between the 4.4 and the-1.5
3 so although the actual values aren’t wildly 3 between Oliver Wyman and FA, there' sthe loss
4 off, and so, you know, we looked at it and 4 development factors. Andif FA was to use
5 said, okay, | don’t quite follow, but they’re 5 those loss devel opment factors based on losses
6 not--it’ s not like the AB where they have 1.14 6 only and if they were to not think that the
7 and all theaveragesare lessthan 1. But 7 reforms reduced costs by 37 percent, and took
8 when we looked at it and said, gee, you know, 8 aten-year average, using those adjusted ALAE
9 they--this doesn’t appear to be appropriate to 9 that they should have used, excluded two high
10 us that they select factors that are based on 10 and two low points, their losstrend rate as
11 losses and ALAE versus losses, and soyou're 11 at December using the data through to December
12 probably sitting--everyone’' s wondering, well, 12 2012 or the datathrough to June 2012 would
13 what does that really mean in terms of aloss 13 fall between -1.7 percent and -1.2 percent.
14 trend. What it meansis that if FA had 14 So when we look at these ALAE factors and say
15 selected the loss devel opment factors based on 15 are they reasonable or not, it'sall part of
16 losses only, asthey said they would have or 16 the package of why we have differences between
17 were doing, and use the same approach as GISA 17 FA and Oliver Wyman. So the issue--I did not
18 did but just use the losses only data, their 18 say that the factors were unreasonable. 1I've
19 4.410ss cost trend rate would decrease by 19 just said that it doesn’t appear appropriate
20 about a point, and so--that would bring that 20 to base loss development factors on something
21 4.4 percent down to 3.5 percent. And so 21 different than what you stated that you were
22 you're probably saying, well, why is there 22 basing them on.
23 this disconnect between FA having 4.4 percent 23 MS. NEWBURY:
24 and Oliver Wyman issaying 1.5 percent, and 24 Q. Okay. So Ms. Elliott, you didn’t state that
25 we've talked about the ALAE and we' ve talked 25 they’ re unreasonable, and in your report you
Page 74 Page 76
1 about the timeframe that’ s selected. And as 1 have stated clearly that the selected loss
2 we've just discussed about the reform factors, 2 devel opment factors are reasonable other than
3 FA’smodel is premised on assuming that the 3 with AB. Sol put itto you that they are
4 reform factors reduced the cost significantly 4 reasonable. You may not understand how they
5 and that there was a change in the trend rate 5 got to--how they derived that. We've made
6 starting in 2004-2. My position is - 6 assumptions.
7 MS. NEWBURY: 7 MS.ELLIOTT:
8 Q. Ms. Hlliott, sorry - 8 A. | think wedo understand, and we showed
9 MS.ELLIOTT: 9 yesterday, that they selected the identical
10 A. I'mtryingto explaintotheabout the ALAE 10 factorsto GIsAa and the GIsA datais based on
11 and the impact. My position isthat if the - 11 losses and ALAE, and FA stated that they were
12 MS. NEWBURY: 12 selecting their factors based on losses only,
13 Q. Ms. Hlliott, my question was about the 13 which--it would appear that they did not do
14 reasonableness of the loss development 14 that, and asa result of that, their loss
15 factors. Have you changed your opinion about 15 trend rate is nearly a percentage point
16 whether or not they’ re reasonable? 16 higher. So when you look at the individual
17 MS.ELLIOTT: 17 factorsin and of themselves, they’re not--you
18 A. I'mtrying to explain that. 18 know, they look in line with our averages, but
19 MS. NEWBURY: 19 really not what FA said they were doing.
20 Q. ButI’m not getting the answer, you're - 20 MS. NEWBURY:
21 MS. ELLIOTT: 21 Q. Butthat isyour inference. That wasn't put
22 A. Okay. I'll getthere. Soif FA had used the 22 to Mr. Doherty inany written questions, nor
23 loss development factors that were based on 23 was it put to himin examination, cross-
24 the lossesonly data, their loss trend rate 24 examination, of him. So that's your
25 would decrease by almost a point, and so when 25 inference.
Page 73 - Page 76
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1 MS. ELLIOTT: 1 don’'t agree with. One of the reasonsisthe
2 A. Yes. We looked at each row, each column of 2 loss development factors, that's adriver of
3 factors, and they matched up. 3 the difference. We'retrying to understand
4 MS. NEWBURY: 4 why does FA have 4.4 and why does Oliver Wyman
5 Q. And areyou suggesting that if you looked at 5 have -1.5, and that’ s part of the reason.
6 indemnity only, that you would have a 6 MS. NEWBURY:
7 difference in the factors? 7 Q. Butthisis not something you identifiedin
8 MS.ELLIOTT: 8 your report of May 16th, 2014?
9 A. Yes. Whenyou look at--they were provided by 9 MS. ELLIOTT:
10 FA, the factors for indemnity only, and they 10 A. No. | expresseditin my direct, that there
11 are generally lower than the GIsa factors. 11 was a difference, and I'm sharing more
12 MS. NEWBURY: 12 information today.
13 Q. Butwouldn’'t you have adifferent trend if you 13 MS. NEWBURY:
14 look at indemnity alone, which is what 14 Q. Now you havein your report, your trend report
15 Facility has done? 15 CA OW 001, you havea referenceto a ULAE
16 MS. ELLIOTT: 16 adjustment factor and | don't think it's
17 A. Andthat’smy point, that if FA had used the 17 described in your report. Canyou point to
18 indemnity-only factors and did the exact model 18 anywherein your report whereyou describe
19 that they ran with starting with 2004-2, their 19 what that ULAE adjustment factor is?
20 trend rate would decline from 4.4 down nearly 20 MS.ELLIOTT:
21 one point--percentage point down to 3.5 21  A. ULAE is the un-alocated loss adjustment
22 percent. 22 expense. There' s an estimate that’s provided
23 MS. NEWBURY: 23 for the industry, thedatais collected for
24 Q. But | understand in your report, you've 24 al insurers andit's provided by Gisa and
25 actually stated there is no differenceif you 25 that factor is used widely, it's a calculated
Page 78 Page 80
1 do indemnity or indemnity plus the expenses. 1 factor of what it isfor each accident year.
2 MS. ELLIOTT: 2 MS.NEWBURY:
3 A. Oh, I'think you arenot understanding my 3 Q. It'sanallocated factor, and you say it’s -
4 point. My point isthat if FA had used the 4 MS.ELLIOTT:
5 loss development factors, based on losses 5 A. It'scaled an unalocated loss adjustment
6 only, and ran their model the same way, their 6 expense, soit'sthe cost of insurers, their
7 trend rate would decline nearly a percentage 7 claims department, you know.
8 point. 8 MS. NEWBURY:
9 MS.NEWBURY: 9 Q. Andyou saidit’sbased on accident year?
10 Q. Soif that’sthe case, why would you not have 10 MS. ELLIOTT:
11 raised this inyour reportin any of your 11  A. Yes. aGlIsawould provide afactor for each
12 questions? 12 accident year, so it varies by accident year.
13 MS.ELLIOTT: 13 MS. NEWBURY:
14 A. I'mtrying to explain. Y ou asked me about the 14 Q. Andsoit’snot your view that it’s based on
15 reasonableness of the factors, and I’'m trying 15 calendar year?
16 to explain the impact of those factors. 16 MS. ELLIOTT:
17 MS. NEWBURY: 17 A. Not my view? Well, the information is
18 Q. Yes, butyou didn’'t explainthat in your 18 provided by GIsa that isapplied to each
19 report. 19 accident year. GISA provides that data that
20 MS. ELLIOTT: 20 you can apply to each accident year.
21 A. No. Wedidn't find their loss trend rates-- 21 MS.NEWBURY:
22 we're taking issuewith their loss trend 22 Q. Andwhat isan accident year?
23 rates. The bottom linewas that the loss 23 MS.ELLIOTT:
24 trend rates that they have put forth, the 4.4 24 A. Anaccident year arethe costs of claim--is
25 percent, we didn’'t agree with and we till 25 the claims that occur in that calendar year.
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1 MS.NEWBURY: 1 then the claims handling costs, you know, that
2 Q. Andsoyou'resayingthat GIsA provides that 2 would affect the trend rate for sure, but
3 data based on the accident year and not the 3 we're assuming that that’s not the case, but
4 calendar year? 4 we don’t have an abjection to FA basing its
5 MS.ELLIOTT: 5 trend rates only on the indemnity. We don't
6 A. I'msaying that GIsa provides afactor that is 6 object to that.
7 to be applied to each accident year. 7 MS.NEWBURY:
8 MS. NEWBURY: 8 Q. | request that youturn to Page 13 of that
9 Q. It'snoted that the Facility has provided in 9 report, CAOwo01, and perhaps we can make that
10 their application the position that since 10 alittle larger, the columns at the top of
11 guideline factorsincluded the loss adjustment 11 the--page 13. Sothere’s acolumn here--
12 expenses, both the allocated and unallocated, 12 actualy, can we go back to Page 13? Okay.
13 but that industry trends and loss adjustment 13 So there’'s a column with the heading ULAE
14 factors don’t apply, because of the manner in 14 Adjustment, and if you look at the years, say,
15 which the expenses are charged for Facility by 15 2006 up through 2009, 2010--actudly, the
16 the servicing carriers--given the apparent 16 first half of 2010, you're generally inthe
17 influence exerted by trends in the ULAE, 17 range of 1.07 and then it drops down, in the
18 wouldn’t it seem reasonable that FA'strend 18 more recent years, to 1.052.
19 selection based on indemnity only should 19 MS. ELLIOTT:
20 apply, and not the indemnity plus expenses? 20 A. Um-hm.
21 MS.ELLIOTT: 21 MS.NEWBURY:
22 A. | believel saidthat they impact reviewing 22 Q. And wouldyou not consider thisto be a
23 whether the loss experience is just the 23 significant difference in the ULAE adjustment?
24 indemnity portion only or the indemnity plus 24 MS. ELLIOTT:
25 al the loss adjustment expenses. The 25 A. Waéll, | think you have to understand that the-
Page 82 Page 84
1 differenceis not very large; quite small. We 1 -the losses include the ALAE already. So if a
2 looked at some of the time periods where there 2 company decides that I'm going to use more
3 was no loss development, all the claims were 3 outside adjusters--so the loss adjustment
4 pretty much closed and settled, so that wasn't 4 expensesis acombination of allocated loss
5 an issue, and we weren’'t finding much 5 adjustment expenses and unallocated loss
6 difference in the trend rate. They’ re not--of 6 adjustment expenses, S0 in running your
7 course, not going to be identical because the 7 operation, the insurance company may decide
8 dataisdifferent and if you look--you know, 8 that it wantsto use more outside adjusters,
9 the same story if you looked at different time 9 and as such, their allocated costs would
10 periods, you get different differences, but 10 increase and their unallocated costs, all else
11 the differencein thetrend rateis not the 11 being equal, would decrease. So maybe you
12 issuein this discussion. It's part of the 12 decide, you know, I’m not going to use an in-
13 difference, a small part of the difference, 13 house staff, I’ m going to hire outside for all
14 but it’s not alarge impact. 14 my resourcing, for settling claims, and when
15 MS. NEWBURY: 15 that happens, the ULAE will go down but the
16 Q. Butwouldit bereasonable? My question was 16 ALAEWwill goup. Soif youdo aregression
17 wouldn’t it be reasonable for FA to baseits 17 analysis, it's my view that you should always
18 trend selections on indemnity only? Thereis 18 either do indemnity only, as FA has done, and
19 some influence. 19 we don’t object to that, or you do losses and
20 MS. ELLIOTT: 20 all theclaims handling costs together. So
21 A. Yes. Wedon't object to FA basing its trend 21 just because you have something with the ULAE
22 rates on indemnity only, that’s not--we don’t 22 declining, buried in there the allocated may
23 object to that. We think that’sfine, and in 23 be going up, but that is not identified here.
24 fact, if the indemnity costs were changing at 24 MS.NEWBURY:
25 alower rate, then the--or adifferent rate, 25 Q. Soyou do note, then, that it isasignificant
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1 drop. You'rejust saying that it could be 1 excluded that, but we included the--in our
2 explained on the other heading or the other 2 time period for severity, we included it. So
3 side, the allocated |osses. 3 the severity went down, but we didn’t include
4 MS.ELLIOTT: 4 the bump upin frequency, we're kind of
5 A Yes 5 getting a mismatch. So when we do the
6 MS. NEWBURY: 6 regression analysis, we think it’s appropriate
7 Q. And it'sdtill your view that these loss 7 to use the same time period for frequency and
8 adjustments are based on accident year versus 8 severity so we don’'t miss that subtle
9 calendar year, and it’s my understanding that 9 possibility that anything that’'s affecting
10 it's based on calendar year, sol’'m goingto 10 frequency and sort of offset in severity, that
11 request that you undertake to confirm that 11 we missit.
12 with GISA. (REQUEST) 12 MS. NEWBURY:
13 MS. ELLIOTT: 13 Q. Okay, butyou can actually look at these
14 A, Okay. 14 things separately, severity and frequency, and
15 MS. NEWBURY: 15 looking at the same time period?
16 Q. | know we touched on thisa little earlier, 16 MS.ELLIOTT:
17 but I want togo back to Page 3 of this 17 A. Andwedo.
18 report, on the issue of the lost costs versus 18 MS. NEWBURY:
19 the severity and frequency, and thisis under 19 Q. Okay, and sothis isan inference on your
20 the heading Considerations of Severity, 20 part, then? Youdon't actualy know that
21 Frequency and Lost Cost Trend Patterns. And 21 there' sacorrelation of the nature that you
22 I'll repeat this again, but you were referred 22 suggested?
23 tothisearlier, "review of the severity and 23 MS. ELLIOTT:
24 frequency trend patterns over the recent past 24 A. Oh, we have seenit.
25 suggeststhat we may not fully reflect the 25 MS. NEWBURY:
Page 86 Page 88
1 correlation that seemingly exists between 1 Q. Haveyou seen itin thisparticular data?
2 severity and frequency, if we separately 2 Have you actualy looked--gone beyond the
3 select severity and frequency trend rates over 3 numbers and looked at -
4 different time periods. For this reason, we 4 MS.ELLIOTT:
5 tend to select past and future trend rates by 5 A. No, no. | mean, and the problem hereisthe
6 directly examining the trend patterns for lost 6 numbers. | mean, that’s--you’ ve hit the nail
7 cost. What is the correlation that you've 7 onthehead. The problemis, in the bodily
8 identified there? 8 injury here that we're focused on, there’'s
9 MS.ELLIOTT: 9 only about 120 claimsa year. It's very
10 A. Ithink | had an example earlier, that if we 10 difficult. This data has, you know, the
11 seethere’'s a bumpin frequency, which is 11 noise, asyou referred toit, and it'svery
12 often due to weather-related incidents--so you 12 hard to see that, but we know that phenomena
13 know, theroads areicy and sippery and you 13 does exist. We've seenit in other provinces
14 have more claims, and they tend to be the 14 and other coverages, so it’s, you know, one of
15 smaller bumper claims, you can’t--there'sice, 15 the things that we don’t want to overlook.
16 you have a stop sign, you bump into the car in 16 MS. NEWBURY:
17 front of you. So those claimstend to be the 17 Q. So it'sa correlation. You've given one
18 smaller claim. So often we see when there'sa 18 example, you'vereferred to it twice now,
19 bump in frequency, there can be adecline, a 19 about weather and you might have a lot more
20 little decline in the severity, and so there's 20 accidents of aless-significant nature. Have
21 that matching--you know, it kind of makes 21 you verified datistically what the
22 sense and of course, you need alarger body of 22 correlationis, and is there morethan one
23 datato really, you know, seethat. Soif we 23 correlation?
24 decided to use atime period where that sort 24 MS. ELLIOTT:
25 of--maybe there was that bump in frequency, we (25 A, Wdll, | think what we're saying is we like to
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Page 89 Page 91
1 match up thetime periods so that we don’t 1 Q. Okay. So isthishoilerplate language that
2 inadvertently miss an correlation. That's 2 you would put in your reports?
3 what we're expressing here, that | don’t want 3 MS.ELLIOTT:
4 to take a frequency trend rate over five years 4 A Yes |just expressedthat. Thisis our
5 and a severity trend rate over 20 years. We 5 approach that we take, we takeit inevery
6 might get a mismatch there. That’s the point 6 province, every review that we do. Wedon't
7 that we're trying to make here. 7 want to find that we' re mismatching frequency
8 MS. NEWBURY: 8 and severity, so wedo that in al our
9 Q. Okay, and perhapsthat point wasn't actually 9 reviews, that’s correct.
10 clear, because! don't seeany references 10 MS. NEWBURY:
11 there totime periods and being concerned 11 Q. Andyou've also stated here that you tend to
12 about looking at it separately with separate 12 select past and future trend rates by directly
13 time periods. There'sno reference there at 13 examining the trend patterns for lost costs.
14 al that | can see to time periods. 14 What exceptions to this tendency have you made
15 MS. ELLIOTT: 15 for thisreview, if any?
16 A. Okay. Well, that wasthe intention. | will 16 MS. ELLIOTT:
17 take your note to maybe perhaps write it more 17 A. Inthisreview, | don't believe there are any
18 clearly. 18 exceptions to looking at frequency, severity,
19 MS. NEWBURY: 19 lost costs over the same time period, no.
20 Q. There'sasoamentionthere of recent past. 20 MS. NEWBURY:
21 So it looks like you've come to a conclusion 21 Q. Okay. I'mgoingto referto Exhibit PE#3.
22 that there’ sa correlation, you haven't--you 22 Actually, that’s not the right exhibit. 1'll
23 know, you've noted what it could be or what 23 come back to that question later, Ms. Elliott.
24 you think it is, but what isthe recent past 24 I’m going to refer to page 5 of your report CA
25 that you' re referring to? 25 Oow 001, trend report.  And under the heading
Page 90 Page 92
1 MS.ELLIOTT: 1 "seasonality”, now | note thereit says we
2 A. Well, I would have to acknowledge that when we 2 refer to the first half of accident year XXXX.
3 do the report, that this paragraph might be-- 3 Now, | thought somewhereyou had a report
4 I'm pretty sureis repeated over, unless we've 4 where that actually wasfilledin. Canyou
5 changed something, so--and we take this view 5 recall what the accident year--sorry, thisis
6 in other provinces. We definitely have seen 6 a different question. Okay, under this
7 it. | mean, this is not--you can understand 7 heading, you discuss frequency and severity,
8 that there canbea bumpin your frequency 8 but your analysis ultimately was based on loss
9 rate dueto weather and smaller claims. So 9 cost based on our previous discussion, is that
10 we'rejust trying to make the point here so 10 correct? Your final analysis, you've gone
11 that we have a-we don’t have a mismatchin 11 with aloss cost because you want to take into
12 thetiming, that we look at the same time 12 account the correl ation between the two?
13 period for frequency and severity and of 13 MS. ELLIOTT:
14 course, therefore, lost cost in our review. 14 A. | think if you--because I’ ve tried to express
15 MS. NEWBURY: 15 when we review loss cost trend rates, we look
16 Q. Sotherecent past, then, you can’t identify 16 at loss cost frequency and severity all at the
17 five years? 17 sametime. Our output, our data shows on one
18 MS.ELLIOTT: 18 page the loss cost frequency and severity and
19 A. No. 19 sowelook at it all together. And our point
20 MS.NEWBURY: 20 was that the two multiply together. If you
21 Q. Wasit either the past five years or the past 21 use the same time period and do exactly the
22 12 yearsor - 22 same thing, theresult that you get for
23 MS.ELLIOTT: 23 frequency timesthe result that you get for
24 A. | cannot for you. 24 severity equalsthe loss cost result. It's
25 MS. NEWBURY: 25 the mathematics of it. So, that’s what we're
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Page 93 Page 95

1 doing. 1 of pages.

2 MS.NEWBURY: 2 MS.NEWBURY:

3 Q. Younote hereinthis heading that we find 3 Q. No, but that you've produced for the Board?

4 that seasonality is sometimes evident and we 4 MS.ELLIOTT:

5 take thisinto consideration in our review of 5 A. Wdll, | produce themall and | provide a

6 the bodily injury trend rate patterns. 6 report to the Board of the summary of our

7 MS.ELLIOTT: 7 selections; that’s what we do.

8 A. Um-hm. 8 MS. NEWBURY:

9 MS.NEWBURY: 9 Q. | haven't seenin anything and I’m not sure,
10 Q. Andjust canyou explain what that means? 10 maybe wedon't get the same documentation
11 MS. ELLIOTT: 11 that’s provided to the Board. | would have
12 A. Yes, you know, again, thisdatais limited and 12 assumed that we did.

13 small and so sometimes we think, depending 13 MS. ELLIOTT:

14 upon--as | said before, we run lots of 14 A. Youdo.

15 different versions of this analysis and 15 MS. NEWBURY:

16 sometimes depending upon thetime periodthat (16 Q. Okay, well, | can’'t see any regression model

17 we pick, the T test that saysit’s significant 17 over the period 2005 - 2012. So, I'm

18 for seasonality is strong and other timesit’s 18 wondering why if you have seasonality in a

19 not. And that was the point that we're trying 19 particular regression model, why don’t we have

20 to make there, that look at it and it's not 20 that regression model ?

21 consistent, it’s not consistently strong, the 21 MS. ELLIOTT:

22 seasonality for bodily injury. And, you know, 22 A. Well, youdon't have all the onesthat | ran.

23 | can only assume it’s because the datais so 23 | think I’ve expressed that we run numerous

24 small that we can’'t see any consistency in 24 models and we don’t print them all out. So,

25 that. That was the point that we were making. 25 my point here was that what we said was
Page 94 Page 96

1 MS.NEWBURY: 1 seasonality, depending upon thetime period

2 Q. Now, if youturn to page 11 of your May 16, 2 that you select and the data spin (phonetic),

3 2014 report and under the heading for "Bodily 3 it can show that it’s significant. FA usethe

4 Injury"”, second bullet. So, the second bullet 4 time period 2004-2to 2012 and didn’t find

5 under "Bodily injury" heading it says, "we 5 seasonality significant. When we looked at

6 find thereto be evidence of seasonality is 6 our model over that time period which matched

7 the loss cost in the more recent years. The 7 up with what FA is effectively using, we were

8 parameter test we apply referred toas aT 8 seeingit. But, you know, it's adippery

9 test indicates that a seasonality parameter 9 thing, this seasonality and this skinny data
10 should be applied in the regression model over 10 that we have. Sometimesit’s significant,

11 the 2005 to 2012 period". What regression 11 seasonality, and sometimesit'snot. There's
12 model are you referring to here in this 12 only 120 claims, there’snot alot of data

13 reference? 13 here. That is the point. FA found that it

14 MS. ELLIOTT: 14 wasn't significant and, you know, it'snot a
15 A. Most likely mine, but - 15 material issue, but we made note of it and
16 MS. NEWBURY: 16 depending upon the time period that you use,
17 Q. Didyou do a2005 to 2012 regression model? 17 it can be significant.

18 MS.ELLIOTT: 18 MS. NEWBURY:

19 A. Oh, sure, wedid all sorts, as| said, | can’t 19 Q. But Ms. Elliott, the 2005 - 2012 period when |
20 even begin to tell you how many we did. 20 asked you about that first, you said it would
21 MS.NEWBURY: 21 have been your model. Now, you're thinking
22 Q. Butit’snot one that you' ve produced? 22 it'sthe FA regression model, the time period
23 MS. ELLIOTT: 23 that they selected, but they didn't select

24 A. Youknow, the model produces it for me. | 24 2005 - 2012 either.

25 don’t print everything out. I’d have hundreds 25 MS.ELLIOTT:
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1 A. No, they selected 2204-2 to 2012 for the 1 are the patterns. That’swhat we do and as |
2 selected loss cost trend rate that they used. 2 expressed, seasonality may be a factor here
3 MS.NEWBURY: 3 for commercial data. The dataisso thinit's
4 Q. Andthisisadifferent time period? 4 hard to redly tell for sure. We saw over
5 MS.ELLIOTT: 5 some time periods it was and some time periods
6 A. It'sahalf ayear less, that'sright. 6 it wasn't, and we made that comment, that’s
7 MS. NEWBURY: 7 all.
8 Q. Buthalf ayear can make abig difference 8 MS. NEWBURY:
9 based on some of the analysisthat you've 9 Q. But, Ms. Elliott, itis a model that you
10 provided. 10 haven’t relied upon and you haven’t produced
11 MS.ELLIOTT: 11 for the Board, so otherwise this model wasn’'t
12 A. Yes, that'scorrect. 12 your selected or preferable, | use the word
13 MS. NEWBURY: 13 "best", but maybe preferable model, from your
14 Q. And but you haven’'t done a 2005 - 2012 period |14 perspective.  So, why would you pick a
15 yourself? 15 different model to point out that you can run
16 MS. ELLIOTT: 16 enough tests and find seasonality in some of
17 A. No,| just said that wedid. | mean, | 17 them, when it's not actually amodel that
18 wouldn’t - 18 either you used or that the Facility used?
19 MS. NEWBURY: 19 MS.ELLIOTT:
20 Q. But not to produce for the Board? 20 A. | think we weretrying to point out that
21 MS. ELLIOTT: 21 seasonality is aparameter that is not--it
22 A. If the Board would like me to produce it, if 22 maybe an impact or it may not be an impact.
23 someone would ask me for that, | can provide 23 It may add to you model, like it might be an
24 that. 24 element that you should consider in your
25 MS. NEWBURY: 25 model, but interestingly it depends upon the
Page 98 Page 100
1 Q. | assumethat, you know, when you go through 1 time period that you use, whichagain jus
2 and you do different modelsand you pick 2 speaks back to limited data.
3 different times periods, that ultimately you 3 MS.NEWBURY:
4 say, well, I’'m not going to use al of them. 4 Q. AndI would put to you that the Facility did,
5 | prefer this model over another model. Am | 5 in fact, consider that; they didn't just
6 correct that you pick the best models and 6 ignoreit. They considered it and decided
7 produce those for the Board, and if you didn’t 7 that it was not in evidence there to support
8 produce it, then for some reason it wasn’t the 8 that it should be included asa parameter.
9 best model to use? 9 And you could only find it whenyou used
10 MS. ELLIOTT: 10 actually a different model than either one of
11 A. Wdl, I'mnot surewhat you mean by "best". 11 you. So, yes, it could happen and perhaps if
12 Welook at the datato try to understand the 12 you pick enough time periods you might find it
13 patternsin the data, the patternsof how 13 in some of those models, but if you're
14 those costs are changing over time. We look 14 otherwise rejecting that model or choosing not
15 at different time periods, with and without 15 torely uponit, thenwhat's thevaue of
16 exclusions. Welook at whether seasonality is 16 pointing out that you can find seasonality
17 afactor. Welook at whether thereformisa 17 during some timeframes and not in others?
18 factor. Asl said, we have aflexible model 18 MS.ELLIOTT:
19 that we can look at many runs. And the model 19 A. It'sa smal value; it's acomment that we
20 isreally niceand simpleto use. | just 20 made.
21 click thefit button and put in some X's of 21 CHAIRMAN:
22 what | want to see or not see and it doesit 22 Q. | think we'll--are you finished with that
23 in asecond. So, we're able tolook at 23 ling, that -
24 numerous runsin avery short period of time 24 MS.NEWBURY:
25 and assess our understanding of the data, what 25 Q. Yes
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Page 101 Page 103
1 CHAIRMAN: 1 that’ s for sure.
2 Q. Okay, well, we'll break now for half an hour. 2 MS. NEWBURY:
3 (RECESS) 3 Q. Andtherewas no specific testing of though
4 CHAIRMAN: 4 that you refer to?
5 Q. Once more unto the breach. 5 MS.ELLIOTT:
6 MS. PAULA ELLIOTT (PREVIOUSLY SWORN) CROSS-EXAMINATION BY 6 A. No,no. We, both Mr. Zubulake and myself,
7 MS. JENNIFER NEWBURY CONT'D 7 would have the same loss trend model and data.
8 MS. NEWBURY: 8 He' d beto test, ook at it, decide whether he
9 Q. Thank you. Ms. Elliott, just a genera 9 believed it was areasonable change to make.
10 question now about your governance structure 10 So it was not something that | did alone. It
11 that youuse at Oliver Wyman when you're 11 would have in consultation with my colleague.
12 changing your process. |In particular the 12 MS. NEWBURY:
13 percentage change to dollar value, when you 13 Q. But werethere any specific tests performed by
14 changed it from the dollar value to percentage 14 either one of you to your knowledge?
15 change, and then you changed it back, do you 15 MS. ELLIOTT:
16 have agovernance structure in place that 16 A. Wdl wewould have tested what impact that is
17 would define how you move from one approach to 17 on the loss trend rate. We would have looked-
18 another? 18 -and | said, we run numerous examples, and my
19 MS ELLIOTT: 19 colleague will often say to me, "Gee, you know
20 A. Waéll our policy isthat for all our work, all 20 what about this? Why don't we do that?' So
21 our reports that are provided to clients, any 21 it would have beenlooked at what is the
22 work product that' s provided to aclient, is 22 impact if we do that versus not doing that,
23 subject to peer review. So my colleague, Ted 23 definitely.
24 Zubulake who works or who heads our 24 MS. NEWBURY:
25 northeastern region, he resides in New Y ork, 25 Q. Ms. Elliott, I'vetried to dlicit from you
Page 102 Page 104
1 he would have peer-reviewed and participated 1 information before about the P values and the
2 inthe preparation of thisreport, and any 2 meaning of R values. I’'m going to refer you
3 changesin approach, yes. 3 againto sD 1through sD4. I'vegot a
4 MS. NEWBURY: 4 request that you identify. Let’slook at sD 1
5 Q. Andwhenyou changed it back, would he also 5 first. Just amoment for this to come up on
6 have been involved in the peer review process? 6 the screen. Sopage 2 of that document.
7 MS.ELLIOTT: 7 Okay. Canyou identify the value associated
8 A. Hewas involvedin every losstrend report 8 with the T statistic for this exhibit?
9 that was prepared for the Province of 9 MS.ELLIOTT:
10 Newfoundland. 10 A. Yes, it's1.704 for the intercept, and the all
11 MS. NEWBURY: 11 yearsis minus 1.466.
12 Q. Andwas thereany testing of the approach? 12 MS. NEWBURY:
13 When you decided to change from one to the 13 Q. Okay, and what isthe P value?
14 other, did you take abroader analysis and 14 MS. ELLIOTT:
15 say, "We're going to see now whether thisis 15 A. Eleven percent for the intercept and 16.5 for
16 going to be a suitable approach,” or did you 16 the al years.
17 just make a change and - 17 MS. NEWBURY:
18 MS. ELLIOTT: 18 Q. Okay, and what are the degrees of freedom?
19 A. Itwould have been discussed at the timein 19 MS.ELLIOTT:
20 making that decision. So asyou know that’s 20 A. Well, let's seeif | can explainit. You
21 going back alittle bit of time for me, so | 21 know, | didn't prepare thisreport. I'm
22 don’t remember the exact discussion, but it 22 trying to find it.
23 definitely would have been discussed and 23 MS. NEWBURY:
24 between my colleague, Ted Zubulake, and 24 Q. Okay.
25 myself. It was not something | did on my own, 25 MS.ELLIOTT:
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Page 105 Page 107

1 A I'mpretty - 1 MS.NEWBURY:

2 MS.NEWBURY: 2 Q. Andinthis casehere, | would suggest that
3 Q. Sothe topright-hand corner under Selected 3 the statisticsfrom this regression would

4 Trends Structure. 4 typically be rejected by most actuaries and
5 MS.ELLIOTT: 5 most statisticians?

6 A. Okay. Thedegrees of freedom are 15. 6 MS.ELLIOTT:

7 MS.NEWBURY: 7 . If youwerelooking at the frequency and the
8 Q. How arethe degrees of freedom calculated? 8 severity statistics, the answer to that would

9 MS.ELLIOTT: 9 be no.
10 A. It'sameasure of how many datapointsarein 10 MS. NEWBURY:
11 the model, and then it takes into account any 11 Q. Butwe're looking athe losscost. You've
12 parameters that arealso used within the 12 decided to combine them.

13 model. So the more datathat you have, and 13 MS. ELLIOTT:

14 the fewer parametersthat are in your model, 14 A. No.

15 the larger that the degrees of freedom will 15 MS. NEWBURY:

16 be. 16 Q. | meanthat’syour decision that you -

17 MS. NEWBURY: 17 MS.ELLIOTT:

18 Q. Okay. And how do you comeup with the 18 A. No,I-

19 critical value for this particular regression? 19 MS. NEWBURY:
20 | mean what--how doyou determinewhat is 20 Q. - havefocused on looking at them together.
21 acceptable for this particular set of values? 21 MS. ELLIOTT:
22 You'vegot your T statistic, you have your 22 A. No, | think you're misstating it. What we
23 degrees of freedom. 23 said isthat we look at the loss cost, we look
24 MS. ELLIOTT: 24 at the frequency, we look at the severity. If
25 A. Um-hm. 25 you have to trend ratesthat aregoing in

Page 106 Page 108

1 MS.NEWBURY: 1 different directions, so a negative frequency
2 Q. Youhaveyour Pvalue. 2 trend rate and a positive severity trend rate,

3 MS.ELLIOTT: 3 your regression statistics for the loss cost

4 A Um-hm. Wdll, as| expressed, welook at the 4 can be quite poor, but at the sametime, and |
5 regression statistics that are provided, and 5 showed the exhibit earlier, the regression
6 in particular this isagood example. Asl 6 statistics for the frequency can be acceptable
7 showed earlier we'll look at the regression 7 and for the severity acceptable, while the
8 statistics for the frequency, we'll 1ook at 8 losscost isnot. That iswhy we aways,

9 theregression statistics for the severity, 9 aways look atloss cost, frequency, and
10 and they will be very different. Andinthis 10 severity. To show this exhibit and say that
11 case, as| expressed earlier, the loss cost 11 this is all that we looked at is a

12 statistics will be different. So both--even 12 misunderstanding of our work.

13 though you're running a regression model 13 MS. NEWBURY:

14 that’ s based on the frequency, the severity 14 Q. Ms. Elliott, what isthe cut-off for the P

15 and theloss cost, and those loss trends 15 value that would be considered an acceptable
16 combine together for frequency and severity to 16 value for aregression?

17 betheloss cost trend rate. The regression 17 MS.ELLIOTT:

18 statistics for frequency are different than 18 A. Wdl, FA hasused .05. | don't object to
19 the severity, and are different than loss 19 that. Wetendto look at the T stat, and

20 cost. 20 typically we're looking at a number at least--
21 MS.NEWBURY: 21 we'd likeit to be closeto two. But again,
22 Q. Right. 22 none of theregression statisticsthat are

23 MS. ELLIOTT: 23 presented by anybody on this set of commercial
24 A. Andtheloss cost is based on the combination 24 dataaregood. They'renot. There' slimited
25 of the frequency and the severity. 25 data. It'simpossibleto be good. So there
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Page 109 Page 111
1 not good. So even if you set a standard that 1 Q. Okay, and -
2 is-that you think is reasonable, it doesn’t 2 MS.ELLIOTT:
3 necessarily mean that you're getting--that 3 A Whatit tellsusis that there’s no trend,
4 that isthe right choice. | guess that’s what 4 that over timeit’s zero.
5 I’'mtrying to say, because you might runa 5 MS. NEWBURY:
6 model and have statisticsthat you think are 6 Q. Right.
7 appropriate and then one year later do the 7 MS.ELLIOTT:
8 same thing, and you get completely different 8 A. Thatthere's-
9 results. And if you pick that number, maybe 9 MS.NEWBURY:
10 it's a high number, alow number, and then run 10 Q. There'sno trend, that’s correct.
11 your regression analysis doing the same thing 11 MS. ELLIOTT:
12 the next year, it can be quite different. And 12 A. There€' sno--you can’'t tell anything from the
13 thisall comes back to the same thing; we're 13 data. So -
14 dealing with asmall data sample here. 14 MS. NEWBURY:
15 MS. NEWBURY: 15 Q. Andyour degrees of freedom inthiscase, is
16 Q. Okay. 16 that seven?
17 MS.ELLIOTT: 17 MS.ELLIOTT:
18 A. A hundred and twenty or so claims per year. 18 A. Yes
19 MS. NEWBURY: 19 MS. NEWBURY:
20 Q. Ms. Elliott, sothe P value that you've 20 Q. Okay, and that would be based on the fact that
21 indicated that Facility uses isfive percent 21 you have a certain number of data points, how
22 or .05, and you don't take objection to that. 22 many data you have?
23 And thisvalue hereis 16.5 percent whichis 23 MS. ELLIOTT:
24 well above that P value? 24  A. That'sbased onthe number of data points,
25 MS.ELLIOTT: 25 less the parameter in the model.
Page 110 Page 112
1 A Yes 1 MS.NEWBURY:
2 MS.NEWBURY: 2 Q. Okay, soit’seight data pointsless -
3 Q. Doyou agree? 3 MS.ELLIOTT:
4 MS.ELLIOTT: 4  A. Theone parameter for time.
5 A. Yes | do. 5 MS. NEWBURY:
6 MS.NEWBURY: 6 Q. Oneparameter?
7 Q. And the next exhibit, sD 1--sD 2, what is your 7 MS.ELLIOTT:
8 P value? 8 A. Um-hm.
9 MS.ELLIOTT: 9 MS. NEWBURY:
10 A. A hundred percent it shows there. 10 Q. Soitgivesyou seven. And the next, sD 3,
11 MS. NEWBURY: 11 what isyour P value?
12 Q. Andwhat doesthat mean? 12 MS.ELLIOTT:
13 MS. ELLIOTT: 13 A. Point one percent for theintercept and .2
14 A. Thatit's not areliable parameter that should 14 percent for the all-year parameter.
15 be included in the model. 15 MS. NEWBURY:
16 MS. NEWBURY: 16 Q. Okay, and what does that mean?
17 Q. Okay. And thisisyour model of five years? 17 MS.ELLIOTT:
18 MS. ELLIOTT: 18 A. That they’re better than the 100 percent, that
19 A. Yes 19 the results have, you know--are more--it tells
20 MS. NEWBURY: 20 you that it’s stronger.
21 Q. And fiveyearsended which period? 21 MS.NEWBURY:
22 MS. ELLIOTT: 22 Q. Okay, and the degrees -
23 A. l--sorry, | can't see the--yeah, | think 23 MS. ELLIOTT:
24 December 2012. 24 A. A better test.
25 MS. NEWBURY: 25 MS. NEWBURY:
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Page 113 Page 115
1 Q. And the degrees of freedom in this case? 1 you feel it's more responsive? SO
2 MS.ELLIOTT: 2 notwithstanding what the stats say, you think
3 A Isl5 3 that inputting the five-year regression models
4 MS. NEWBURY: 4 into your overall trend rate actually improves
5 Q. Fifteen. Andin sb Number 4, what isyour P 5 your results?
6 value? 6 MS.ELLIOTT:
7 MS.ELLIOTT: 7 A. | think again I'm repeating myself, that when
8 A. A hundred percent. 8 we look at the regression statistics, and when
9 MS.NEWBURY: 9 you have afrequency rate that’s declining,
10 Q. Okay, and thisagain isafive-year model. 10 and you have a severity rate that is
11 And do you usethe same stats for five-year 11 increasing, you're not going to get reliable
12 models and ten-year models, or do you change |12 or usable statistics. You should be looking
13 theapha? [I'veheard something about an 13 at your frequency regression statistics and
14 aphabeing used. Do you know what that is? 14 your severity regression statistics which we
15 MS. ELLIOTT: 15 do. Andthe loss cost isnot going to give
16 A. I don't know that the alphais that you're 16 you something that isuseful. I've expressed
17 referring to. 17 this. I’'ve told you that we look at our
18 MS. NEWBURY: 18 frequency statistics, we look at our severity
19 Q. Okay. Okay. 19 statistics. FA produced this exhibit; not us.
20 MS. ELLIOTT: 20 FA said that they looked at this. You're
21 A. No. 21 asking me to comment on it, but it is not what
22 MS.NEWBURY: 22 | looked at when we reviewed our models.
23 Q. Doyouknow, isthere any differenceor doyou |23 MS.NEWBURY:
24 have the same expectations when you movefrom |24 Q. Ms. Elliott, have you looked at the frequency
25 aten-year model to a five-year model for 25 and severity models for your five-year
Page 114 Page 116
1 regression? 1 regressions and determined that those results,
2 MS.ELLIOTT: 2 the statistic results, are acceptable?
3 A. No, wewould expect--whether you'relookingat | 3 MS ELLIOTT:
4 ten year or five year, you want to get agood 4 A. No, thedataisvery--1 mean, the datais very
5 fit for the data that you’ re looking at. 5 thin. Wewanted to look at the five year to
6 MS. NEWBURY: 6 see what' s happening in the last five years.
7 Q. Yes 7 That’swhat we' ve done. We don't incorporate
8 MS.ELLIOTT: 8 any one model. Wedon't say, "If | takethe
9 A. Just because you have a shorter period doesn’t 9 fiveyears, | get the right number. If | take
10 mean that you would change your--what you 10 the ten years, then | get the right number."
11 think is areasonablefit, yeah. 11 We'retrying to look at thisin a consistent
12 MS. NEWBURY: 12 approach. The more recent data might tell us
13 Q. Okay. Andin thiscasehereyou'vegot aP 13 if there’s adirection that’salittle bit
14 value again of 100 percent? 14 different than the ten-year period. We look
15 MS.ELLIOTT: 15 at that information. None of the models, none
16 A. That'scorrect. 16 of the modelsare great fits. None. Not
17 MS. NEWBURY: 17 those presented by FA or those presented by
18 Q. Which- 18 Oliver Wyman. They're al relatively weak.
19 MS.ELLIOTT: 19 MS. NEWBURY:
20 A. Sowe're saying that, right, that over the 20 Q. Ms. Elliott, I'm going to refer you to Exhibit
21 passage of time you can’t measure atrend rate 21 D1. Thisthe Facility’s Report.
22 with thisdata. That'swhat that’s saying. 22 MS. ELLIOTT:
23 MS. NEWBURY: 23 A, Um-hm.
24 Q. But in your view it's-you've chosen to 24 MS.NEWBURY:
25 emphasize five-year periods of time because 25 Q. Allright. And there'sa section there called
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1 "TPL Indivisible"? 1 says, "Well, that’s certainly an upward trend.

2 MS.ELLIOTT: 2 I’d rather be at the beginning years of those

3 A Yes Um-hm. 3 ultimate | oss costs rather than the end years

4 MS. NEWBURY: 4 of those loss costs.” How can you explain to

5 Q. That'sthe second band of data. 5 the layperson who looks at this, you know, to

6 MS.ELLIOTT: 6 see atrend and an eyeball will tell you that,

7 A Um-hm. 7 you know, thisis an upward trend?

8 MS. NEWBURY: 8 MS.ELLIOTT:

9 Q. Sothefirst oneistotal, but then under that 9 A. Um-hm. Well, that’s an interesting question.
10 it'sTPL Indivisible. 10 | have a couple of commentson that regard.
11 MS. ELLIOTT: 11 The first thing is the trends that are applied
12 A. Um-hm. 12 to this data are based on commercial data
13 MS. NEWBURY: 13 which does not include taxis. We're looking
14 Q. I'mgoingto refer youtothe columnthat's 14 at taxi data. This Column 8 isall the taxi
15 entitled "Ultimate Loss Costs." 15 loss experience. So the trend rates that are
16 MS. ELLIOTT: 16 applied to it that we're measuring, and this
17 A. Um-hm. 17 isa very large piece of the uncertainty,

18 MS. NEWBURY: 18 we're using commercial data to estimate loss
19 Q. Now if welook down for the ultimate loss 19 trend rates and that -
20 costs for--yes, that’s Column 8. 20 MS. NEWBURY:
21 MS. ELLIOTT: 21 Q. Ms. Elliott, sorry, you've previously
22 A. Um-hm. 22 indicated though that the use of the
23 MS. NEWBURY: 23 commercial data is reasonable?
24 Q. Andwestart in 2004. We have ultimate loss 24 MS.ELLIOTT:
25 costs of 16107? 25 A. I'vesaid that there redly isn't a better
Page 118 Page 120

1 MS. ELLIOTT: 1 choice.

2 A. Um-hm. 2 MS.NEWBURY:

3 MS. NEWBURY: 3 Q. Okay.

4 Q. Thenext year, 1361, and then it goes up, 4 MS.ELLIOTT:

5 222472 5 A. Yeah. So we're applying commercial trend

6 MS.ELLIOTT: 6 ratesto taxi experience, but you know--and

7 A Um-hm. 7 the taxi experience isnot credible. There

8 MS. NEWBURY: 8 are very few claims there, but interestingly,

9 Q. Thenit goesupto2874; up to 2902; then it 9 if youlook at 2010, 11 and 12, and | am the
10 goes up to 3029; then it goes up to 3530; down 10 first to admit, and repetitive as| am, this
11 dlightly, 3412; down dlightly, 3474. And so 11 datais not credible, but anecdotally, we can
12 I’m trying to look at this and understand your 12 see that there' s adecline from 2010 to 2011.
13 evidence, and you have a downward trend rate? 13 It went down 3.3 percent, and then it went
14 MS. ELLIOTT: 14 back up slightly, just under 2 percent from
15 A. Yeah. 15 2011to 2012. So inthelast threeyears,

16 MS. NEWBURY: 16 kind of that average changeif you will, minus
17 Q. Since 2004? 17 one percent orit's flattening out. So

18 MS. ELLIOTT: 18 perhaps the more recent information that we
19 A. Yeah 19 see, limited asit is, is that the costs are

20 MS. NEWBURY: 20 not continuing to increase as they have as--
21 Q. A continuing--year after year your trend rate 21 you know, which is evident here with the taxi
22 is going down. And I'm looking at the 22 experience that it’s flattening out. So this

23 ultimate loss costs here, and they seem to go 23 datais not reliable upon which to base a

24 up pretty well every single year. A couple of 24 trendrate. FA has acknowledged that and
25 exceptions, but alayperson looking at this 25 they’'re using commercial experience to
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Page 121 Page 123
1 calculate the trend rate. But looking at this 1 and the reported | osses for 2013 as of the end
2 estimate of the cost for taxis, and focusing 2 of December 2013, compared to the report,
3 in on the last three years, we see things that 3 lossesfor accident year 2012, at the same
4 areflattening out and declining there. So 4 time period at December 2012, has decreased
5 it'svery hardto realy be convinced, you 5 for taxis. So--and that’s not to say--thisis
6 know, what is the right number? Isplus4.4 6 just, you know, one small little bit of data,
7 percent from commercia experience that FA has 7 but to ask if the losstrend rate that has
8 presented - 8 been presented on commercia data, if it's
9 MS. NEWBURY: 9 unreasonable for taxi data, is it the
10 Q. But Ms. Elliott, your approach and your 10 information that we have. | stand by the
11 conclusion is that there has been adownward 11 commercial trend rate that we calculated. FA
12 trend since 2004. 12 chose to apply a trend rate based on
13 MS.ELLIOTT: 13 commercial vehicles.
14 A. Um-hm. 14 MS. NEWBURY:
15 MS. NEWBURY: 15 Q. Okay.
16 Q. Youdidn't talk about, oh, in the last couple 16 MS.ELLIOTT:
17 of years maybethere’'s a flattening out. 17 A. Themost recent taxi experience showed that
18 You'vetaked about acontinual year-after- 18 it'sfattening, and the reported data as of
19 year downward trend since 2004. 19 2013 showsthat it’s declined.
20 MS.ELLIOTT: 20 MS. NEWBURY:
21 A. Right. 21 Q. Okay. Sol takeit then from your answer that
22 MS.NEWBURY: 22 the only reason that you see a downward trend
23 Q. AndI can't seethat in these numbers. 23 where these numbers seem to show an upward
24 MS. ELLIOTT: 24 trend, is that these numbersreally aren’t
25 A. Well you're--we're talking about commercial 25 credible? There s not enough data here to be
Page 122 Page 124
1 vehicle experience. Commercial vehicles do 1 credible?
2 not include taxis. They’ re the trucks and the 2 MS.ELLIOTT:
3 vans, the business cars, and business vehicles 3 A. No. No, you'remis-speaking. We have been
4 ontheroad. Completely separate that we're 4 talking yesterday, all week, about the
5 looking at, and that’svery limited. You're 5 commercial vehicle trend rate. No one has
6 presenting here the experience for taxis, and 6 established ataxi vehicle trend rate.
7 if you're asking me can we establish atrend 7 MS.NEWBURY:
8 rate for aTPL, | can only say that FA chose 8 Q. Butyou'reproposing that it be used for the
9 not to do so because it found the experience 9 taxis?
10 was too limited to set atrend rate. I'm only 10 MS. ELLIOTT:
11 stating that in the more recent years it 11 A. FAis proposing. It's their filing. They
12 appearsto be flattening out. 12 asked to use--or they have submitted afiling
13 MS. NEWBURY: 13 using commercial vehicles.
14 Q. But yourtrend rate thoughthat you have 14 MS. NEWBURY:
15 produced in since 2004, and it isatrend rate 15 Q. Butyou've come up with your own trend rate,
16 that you have suggested should be or is 16 have you not?
17 present and applicable to the taxi segment? 17 MS.ELLIOTT:
18 MS.ELLIOTT: 18 A. Welook at commercial vehicles and establish a
19 A. Right, wewere tryingto figure out how are 19 losstrend rate. FA looked at the commercial
20 these costs--what are they going to be in--for 20 vehicle data -
21 the policies that are going to besold in 21 MS.NEWBURY:
22 2015. Andif | understand the question, it's 2 Q. Yes
23 we'resaying is thisreasonable? We have a 23 MS. ELLIOTT:
24 minus 1.5 percent trend rate. And infact, 24 A. -which completely separate. Taxisarenot a
25 the data for taxis for 2013 has been released 25 subset of that. And they established aloss
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1 trend rate and said, "I’'m going to use my 1 MS.ELLIOTT:

2 commercia vehiclelosstrend rate to adjust 2 A Yeah

3 my taxi experience.” That's what they 3 MS.NEWBURY:

4 submitted in their filing. 4 Q. And there'stwo separate periodsof time.

5 MS. NEWBURY: 5 We've got 2008 to 2012 and we have2006

6 Q. Okay. Now Fecility’strend rate is a positive 6 through 2012, and both of them show an upward

7 trend rate? 7 trend and statistically proven.

8 MS.ELLIOTT: 8 MS.ELLIOTT:

9 A. That'scorrect. 9 A. What | said wasfor the 2010, 2011 and 2012, |
10 MS. NEWBURY: 10 said that period was showing a decline. From
11 Q. Andyoursis negative? 11 2010 to 2011 the decline was minus 3. 3
12 MS. ELLIOTT: 12 percent. So what | had stated was that it was
13 A. That'scorrect. 13 flattening out over the more recent period,
14 MS. NEWBURY: 14 and that the most recent statistics that have
15 Q. Andsoagain you're saying that the trend rate 15 been released by GIsa for the taxi experience
16 that you've identified should be applied to 16 showsthat the reported lossesfor 2013 are
17 the taxi experience? That’s your position? 17 lower than thereported losses at the same
18 MS. ELLIOTT: 18 point in time for 2012. That was my comment.
19 A. I’'msayingthat the commercial vehicle trend 19 MS. NEWBURY:

20 rate, our measurement of it, is a negative for 20 Q. Ms. Elliott, you've provided a number of data
21 bodily injury, minus 1.5 percent. FA has 21 tables anda summary at theend of your
22 submitted a taxi filing. FA hassaid, "I 22 report, the ca ow 001 Report.
23 can't usemy taxi datato establish atrend 23 MS. GLYNN:
24 rate. 1I’m going to use commercia data" We 24 Q. Doyou have apage reference?
25 accept that. There's not a better 25 MS. NEWBURY:
Page 126 Page 128

1 aternative. 1 Q. Yes I'mgoing torefer tothe-just to the

2 MS.NEWBURY: 2 end of thereport. So if you can go and look

3 Q. Okay. 3 through the last few pages. It's agenerd

4 MS.ELLIOTT: 4 question. So | think starting at about page

5 A. Itaddsto the uncertainty of the findings. 5 11. So page--actudly it'spage 12, 13, 14

6 MS. NEWBURY: 6 and 15 and 16. There's summary tables there,

7 Q. Okay. I’m going to request that the response 7 but there aren't any fitted values based on

8 to CA FA 06 be brought up. Okay, and if you 8 your final selection of trends?

9 scroll down to the next page. Ms. Elliott, 9 MS.ELLIOTT:

10 are you familiar with this response from the 10 A. Um-hm.

11 Facility Association? 11 MS. NEWBURY:

12 MS. ELLIOTT: 12 Q. Whydon'tyou provide fitted values in your
13 A. May | seethe question? 13 reports?

14 MS. NEWBURY: 14 MS.ELLIOTT:

15 Q. Sure. 15 A. We had--1 thought | provided this in my
16 MS. ELLIOTT: 16 direct. Perhaps| didn't. We had a comment
17 A. Please. Okay, um-hm. 17 that they would find the report, and thisis
18 MS. NEWBURY: 18 from an actuary, that they would find the
19 Q. Somy question isfocused on these two graphs. 19 report more useful if they could see exactly
20 You’'ve indicated that the taxi loss costs are 20 the data, what the loss costs were, what the
21 flattening out. | would suggest that these 21 severity was and the frequency wasthat we
22 graphs show otherwise, that there is no 22 were using to derive our selections, and they
23 flattening out if you did a regression 23 weren't all that interested in seeing the, you
24 analysis over the periods of time covered 24 know, the summary stats that we used to
25 here. 25 providein our reports. And so we took that
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Page 129 Page 131
1 and provided the data, and the user had said 1 MS.NEWBURY:
2 that they would find that more helpful, that 2 Q. Andhedid not want to have any interestin
3 they could use thedata, drop it. Every 3 where you actually put your line, because
4 actuary will have aregression model that they 4 there’'sa judgement, | take it? You know,
5 use. Dropitintotheir model, and test you 5 wheredo you put the linein, how do you
6 know what they think thelosstrend rateis 6 determine the intercept? He wasn’t interested
7 and compare it our selection. And then they 7 in knowing what your position was on that?
8 can provide comments to usif, you know, or 8 MS.ELLIOTT:
9 the Board, if they had any alternative 9 A. No. Because he'sgoing to do it himself, so
10 suggestions that they wanted to share. So 10 that’swhat he wanted to know. What'syour
11 that change was made for that reason. 11 data, I'm going to test it and seeif | agree,
12 MS. NEWBURY: 12 that was his point.
13 Q. Sodidthe actuary actually tell you, "I don’t 13 MS. NEWBURY:
14 want to seethis. | want youto provide me 14 Q. Andwhen you did provide--and Ms. Elliott, on
15 something else?" 15 the basis of one request from one actuary that
16 MS.ELLIOTT: 16 you remove apart of your report, you were
17 A. Yeah, it waspretty - 17 comfortable with that, removing that bit of
18 MS. NEWBURY: 18 information? What if he'd asked you to remove
19 Q. Orwasit the matter of the actuary saying, "I 19 other components of your report?
20 would be helpful if you provided some 20 MS. ELLIOTT:
21 additional data?' 1'm tryingto finish my 21 A. Well, we would have taken it into
22 question. 22 consideration, but yes, we listened, we
23 MS. ELLIOTT: 23 understood hispoint, that any actuary is
24 A. Okay. 24 going to look at the work and do their own
25 MS. NEWBURY: 25 test to decide if they arein agreement and
Page 130 Page 132
1 Q. Ms. Elliott? 1 thiswas more helpful. | do, I highly respect
2 MS. ELLIOTT: 2 Dr. Miller. He stestified herein front of
3 A. Yes. Yes, the comment was--l do recall it and 3 the Board, he' stestified in numerous places
4 the person. They said, "Oh, that’'s kind of 4 across the country. | highly value the
5 useless. | don't really want to look at your 5 comment that he provided, we thought it was
6 R squares.” And | do remember being offended. | 6 helpful, and nobody has since said, gee, we
7 MS.NEWBURY: 7 want to see those stats. So if somebody sent
8 Q. Yes 8 inacomment and said we'd liketo seethat
9 MS.ELLIOTT: 9 data and we also want to see your stats, then
10 A. Butl said, "Okay. That's, you know, valid. 10 we would accommodate that.
11 WEe Il provide the data." 11 MS. NEWBURY:
12 MS. NEWBURY: 12 Q. Andinthe past when you have done your fitted
13 Q. Sothen based on one actuary, you' ve decided 13 values--so isit that you do fitted values and
14 to drop out your own fitted values? 14 you just don’t show them, or do you just not
15 MS.ELLIOTT: 15 do the fitted values now?
16 A. Yeah. He's a very senior actuary and | 16 MS. ELLIOTT:
17 respect his opinion, yeah. 17 A. Aspart of aregression model, you determine a
18 MS. NEWBURY: 18 fitted value. That’'s part and parcel of it.
19 Q. Whoishe? 19 MS. NEWBURY:
20 MS. ELLIOTT: 20 Q. Soyou'veactually produced that, but you just
21 A. Dr. Ron Miller. 21 haven’t put it in your report?
22 MS.NEWBURY: 22 MS.ELLIOTT:
23 Q. Dr.Ron Miller? 23 A. That'scorrect.
24 MS.ELLIOTT: 24 MS. NEWBURY:
25 A. Um-hm. 25 Q. Andthisisthefirst time that you eliminated
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1 it from your report? | think the 2011 report 1 and then you averaged that with your prior

2 you did include it. 2 rate selection, -

3 MS.ELLIOTT: 3 MS.ELLIOTT:

4 A. No. Wedidnot includethe fitted values. 4 A. Yeah

5 What we included in the 2011 report were the 5 MS. NEWBURY:

6 regression statisticsin that report, which is 6 Q. -but you dtill have aline, you still can

7 different from the fitted values. 7 take that line, put it on the data, fit it to

8 MS. NEWBURY: 8 the data, and do your regression statistics.

9 Q. However, to get to the regression statistics, 9 Why not do that to see how that |00ks?
10 you have to fit aline to the graph, otherwise 10 MS. ELLIOTT:
11 you can’'t come up with the residuals or - 11 A. Youcoulddraw thelineif you want, but you
12 MS. ELLIOTT: 12 aready havethe line from the regression
13 A. That's right. That's what a regression 13 statistics that you' re incorporating into your
14 analysisis, it's determining aline and those 14 average, and if you put achart up and you
15 valuesfall alongthat fitted line, that's 15 have alinethat’s-1.7 and that’s on agraph
16 right. 16 for you, you could then draw alinethat’s 1.5
17 MS. NEWBURY: 17 because that’ s what your average works out to.
18 Q. Andwhen you do your fitted line, in order to 18 | don’t know if it'sreally going to tell me
19 do your regression analysis, do you use the 19 anyway. | aready know that we've taken an
20 full 15 years of datathat you have inyour 20 approach totry to strike a balance between
21 report, or do you just do the smaller subsets 21 responsiveness and stahility, and that’s how
22 of that? 22 we come up with our -1.5 percent. | grant you
23 MS. ELLIOTT: 23 could draw a lineif you like, but it's not
24 A. As | expressed the other day, we prepare 24 going totell me something new. I'm not
25 numerous runs on the data that we have, the 15 25 tryingtosay if | draw a lineof -1.5and |

Page 134 Page 136

1 yearsthat wereview. Soyes, werun--the 1 back-fitit to find out what the regression

2 regression stats are produced at the same time 2 stats areon that -1.5 and how does that

3 as the fitted value is produced, and so 3 compare, that fittedline, to the actual

4 they’'readl doneat thesame time. We've 4 values--we' ve already established thisdatais

5 produced the regression stats and the fitted 5 not credible, we' ve already established that

6 values. 6 it'svolatile. That’swhy we're picking an

7 MS.NEWBURY: 7 average, becauseit's not credible, it is

8 Q. Anddidyou do the regression statistics and 8 volatile. So we take an averaging approach.

9 the fitted values for the -1.5 trend? 9 It seemskind of silly to then draw aline for
10 MS. ELLIOTT: 10 something that’ s based on an average, not from
11 A. No. That would be a misunderstanding, if you 11 aregression model. You could do that if you
12 ask that question, because the -1.5 percent is 12 want, but 1 don’t--1 think you'regoing in
13 derived using averages. As| have stated, we 13 circlesif you do that.
14 look at ten years of experience ending 14 MS. NEWBURY:
15 December '12 and ending June, 2012, andthen |15 Q. But Ms. Elliott, you’ ve stated in your report
16 welook at thefive yearsand we calculate 16 that a key considerationin determining the
17 that average, and then we draw inwhat we 17 lost cost trend rateinclude how well the
18 selected in our prior report. That number 18 regression model fitsin a statistical sense,
19 calculatesto -1.5 percent. 19 the actual historical data. So you' ve come up
20 MS. NEWBURY: 20 with a model by using averages and by
21 Q. But Ms. Elliott, you do havealine, soyou 21 comparing it with prior rate selection, and
22 have atrend rate of -1.5, and you have data 22 you've explained the reasons for that, but at
23 and you have aline, so | know that you didn’t 23 theend of theday, you have one model and
24 derivethat line directly from aregression. 24 because you emphasized in your report -
25 Y ou took a model where you have four averages |25 MS. ELLIOTT:
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1 A. Wehave one average. 1 consideration to see how your model fits the
2 MS.NEWBURY: 2 data has not actually been followed through.
3 Q. It'sstill amodel. 3 MS.ELLIOTT:

4 MS.ELLIOTT: 4 A. Doyou have aquestion?

5 A. It'sanaverage. 5 MS.NEWBURY:

6 MS.NEWBURY: 6 Q. It'smycomment. You can comment on that. |
7 Q. Soyoudon't consider it to be amodel, then? 7 mean, where has that key -

8 MS.ELLIOTT: 8 MS.ELLIOTT:

9 A. No. | consider the-1.5 is based on an 9 A. I'll only repeat what I’ve said before, so |

10 average of other models that we selected. 10 think that our approach strikes a balance with
11 Incorporated inthat average isour prior 11 responsiveness and stability. The data,

12 selection. Itisan average. 12 whether the models that you looked at that FA
13 MS. NEWBURY: 13 has produced, that’s selected, or the models
14 Q. Okay. So then your comment, the key 14 that we have selected, the regression

15 consideration in determining thelost cost 15 statistics, thefits, are not good. Nobody’s

16 trend rate, which includes how well the 16 model is great. The datais not credible,

17 regression model fits in the statistical 17 it'svery limited. Sol don't think anyone
18 sense, that actually has no application to 18 can stand up in good conscience and say I've
19 your line, which | had assumed was ultimately 19 got the perfect fit, mineisgreat, mineis
20 amodel--it'samodel based on averages, but 20 wonderful, I've got the right answer. That's
21 you're saying that you don’'t have to see how 21 not the case with this data. It's very
22 that fits the actual data? 22 limited and volatile, and that is the point
23 MS. ELLIOTT: 23 that we're tryingto make. By drawing in
24 A. Wejust went through the discussion of how the |24 averages, we take in a wider range of
25 datafits, | provided asummary of the R- 25 possibilities. By picking just one number and

Page 138 Page 140

1 squares. So welook at the fits for the ten- 1 saying that’s it, got the right number, |

2 year model ending December, "12. Welook at 2 think it s not--it’s not the approach that we

3 the fits by severity and frequency. We look 3 want to take, it’'s not what we'vedone. In

4 at the ten-year models, we ook at the five- 4 our judgement, we've taken a different

5 year model. We exclude various points. We 5 approach.

6 take an average, and then we incorporate our 6 MS. NEWBURY:

7 prior selection to strike a balance between 7 Q. Ms. Elliott, you've testified before at

8 responsiveness and stability. That is how the 8 another rate hearing, in 2002, and | believe

9 -1.5 percent is calculated. | know from the 9 the transcript is available to be brought up
10 numbers that we'reincluding in our average, 10 on the screen.

11 just by how averages work, that -1.5 percent 11 MS. GLYNN:

12 isgoing to fall in within the numbers that 12 Q. Do you know which date?

13 it's based upon, and that’ s what we select. 13 MS. NEWBURY:

14 MS. NEWBURY: 14 Q. Yes. December 19th, page 18. If we scroll
15 Q. SoMs. Elliott, I would suggest that the--you 15 downto line 64, and your question here, so
16 know, the key consideration of how well the 16 what | want to try and make clear isthat in
17 model fits theline, looking at regression, 17 terms of theloss development factors, your
18 that doesn’t apply to your underlying models 18 position isthat you would use all the data
19 that you've averaged, because you've talked 19 points regardiess of variability and your

20 about how those are poor results from a 20 answer "we would useall the data points.
21 statistical point of view, and then you’ ve got 21 It'sarandom selection that’s provided. We
22 an ultimate line which you haven't even tested 22 don't know why they are what they are. We
23 to see how it fits, because you don't seeit 23 don’t know the various, we have not been
24 to bea model that requirestesting. So it 24 advised that thereisan errorsin the data,

25 seems that your emphasis on this key 25 so the data that’s provided in terms of loss
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1 devel opment factors, what’ sthere we believe 1 three times at the same level within the same,
2 could possibly happen again. No one has 2 you know, short period of time.
3 stated that there was an error in the data." 3 MS.ELLIOTT:
4 And there' s a couple of other references that 4 A Um-hm. Sointhe context of thishearing,
5 I'll refer to. Page 20, and lines 57 through 5 2002, my recollection is that all these
6 59, and you say "so as we understand the data, 6 references arein regard to loss devel opment
7 it's not an error, and that these data points 7 factors, and in that hearing, if my
8 have occurred and it’ s possible that they will 8 recollection is correct, FA had excluded the
9 occur again, and afive-year average isagood 9 high points, so when they were--1'm sorry, FA
10 balance between responsiveness and stability, 10 had excluded thelow points. So when they
11 and we think that FA’s selection of the five- 11 were calculating their average of the loss
12 year period of timeisreasonable." So again, 12 devel opment factors--not the loss trend rates
13 you're referring to--the data points have 13 but the loss development factors, they
14 occurred and it’s possible they will occur 14 excluded the low points and included the high
15 again. Andif | can refer to Page 23 of that 15 points, and that was the issue that was under
16 same transcript? Okay, and lines 13 to 16, 16 debate in that hearing. And what these points
17 you start off, "well, | think that’s our 17 or comments were made to at that time, that is
18 point. Wedon't really understand why it's so 18 adifferent issuethan what we're debating
19 low. We seethat it's happened in the past, 19 here. We've taken an approach of excluding
20 in the prior periods of time, and there’sno 20 two high and two low for the ten-year trend
21 reason to believe it won't happen again, it's 21 rates based on the percentage change, and we
22 plausible” And down on that page, or 22 acknowledgethat if we had used the dollar
23 actually over across on that page, lines 48 23 approach, the highest value as opposed to the
24 through 50, "that’ s exactly my point, we don’t 24 percentage change, as the basis for
25 know why it'slow. All we know isthat it's 25 exclusions, we' d have even alarger negative
Page 142 Page 144
1 happened before and there’sno reason to say 1 trend rate. So these comments that we madein
2 that it won't happen again. It's very 2 2002 werein reference to FA excluding the low
3 plausible." So it appears here, areluctance 3 values, and as aresult of excluding those low
4 to exclude any data on your part, but 4 values, its loss development factors, we found
5 notwithstanding that, when you're looking at 5 at the time, were too high and as aresult of
6 the loss trend rates, you're routinely 6 having loss devel opment factors that are too
7 excluding data, andthe data that you've 7 high--resultsin loss trend rates that are too
8 excluded, if you look at those data points, 8 high. | mentioned this morning earlier, due
9 they seemto be pointsthat could happen 9 to FA’s choicein itsloss development factors
10 again. Facility has doneits statistical 10 that it chose, its nearly--itsloss trend rate
11 analysis of the data points that you've 11 is nearly one point higher, the 4.4 percent is
12 excluded and for the most part, none of them 12 nearly one point higher. So these comments
13 would be considered outliers. These are 13 werein regards to excluding the low points
14 things that are not unusual, they’re not out 14 which caused their loss development factors
15 of keeping with the typical data. So why the 15 and therefore, loss trend rates to be higher.
16 reluctance here in 2002 to exclude data 16 MS. NEWBURY:
17 points? They happened before, they could 17 Q. But Ms. Elliott, you're still excluding data.
18 happen again, there’ s no reason why there’ s-- 18 MS. ELLIOTT:
19 you don’t know of any reason why they’re so 19 A Yesit's-
20 low, areason that would exclude their usein 20 MS. NEWBURY:
21 the future. Why would you now, by a matter of 21 Q. Youwere reluctantto excludedataat al.
22 course, five-year period, exclude high/low, 22 You'resaying it happened before, it could
23 ten-year period exclude two high/two low. And 23 happen again. What'’ s different about the data
24 looking at the sbi1 through sD4, the points 24 pointsthat you're excluding now? They've
25 don’'t seem out of keeping, they happen two or 25 happened before, they can happen again.
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1 MS.ELLIOTT: 1 +1.9 percent and then using the actual values

2 A. Right. So in 2002, the datathat was being 2 approach, you've got atrend rate of -7.6

3 excluded by FA were the low points, and not 3 percent. What were the P-values associated

4 the low and the high. 4 with that five-year period under the actual

5 MS. NEWBURY: 5 values?

6 Q. Butit'sdtill data, you agree? It'sstill 6 MS.ELLIOTT:

7 valid data? 7 A. | don't havethat at my fingertips right now.

8 VICE-CHAIR WHALEN: 8 MS. NEWBURY:

9 Q. Ms. Newbury, could you confirm with me, was 9 Q. Okay. I’mgoing to request that you do that,
10 thisataxi filing or wasit--in 2002, what 10 provide the P-values for that. (REQUEST)
11 was the - 11 MS. GLYNN:
12 MS. NEWBURY: 12 Q. Forall four?
13 Q. That was private passenger. 13 MS. NEWBURY:
14 VICE-CHAIR WHALEN: 14 Q. Justthe five-year ending June--yeah, sure,
15 Q. ltwas- 15 al four. I'm goingto refer back to the
16 MS. NEWBURY: 16 transcript from the 2002 hearing, December
17 Q. Private passenger. Ms. Elliott, did you just 17 19th, Page 19, and lines 85 to 86, whichison
18 indicate that when you have switched your 18 the right-hand column--right-hand side. Okay,
19 approach from the change--percentage change to 19 and your comment here, and it continues on to
20 looking at the dollar value, that the trend 20 the next page but starting here, "if you
21 rate has actually gotten worse or it's gone-- 21 understand why that outlier iswhat it is, if
22 it goes down even more? 22 you go back and as an actuary working for a
23 MS.ELLIOTT: 23 company, certainly you have knowledge of the
24  A. What we looked at was that when we cal cul ated 24 data and you can find out, you know, that--and
25 the loss trend rate excluding the two high and 25 that’ s the actuary’ s job, to find out why this

Page 146 Page 148

1 thetwo low points, in some cases--I think 1 is so low, what happened here, and you go back

2 there were different exampleswe presented. 2 and you investigate and you may find out it’'s

3 So for example, the ten-year ending June, the 3 just the randomness in the data, or you may

4 -3.6 percent changed to minus 2.9 percent. 4 find out, you know, theclaims adjusters,

5 MS. NEWBURY: 5 they’ve made this big mistake and it will

6 Q. Andwhat areyou referring to there? 6 never happen again. So it’s the actuary’ s job

7 MS.ELLIOTT: 7 to understand the data, andif you can't

8 A. The exhibit we presented at the direct 8 provide arationale for why the numbers are

9 testimony. 9 what they are, to beunbiased you redly
10 MS. GLYNN: 10 shouldn’t exclude too many points." So how is
11 Q. Il think it wasPE3? Yes, PE5, sorry. 11 that approach and that reluctance, which seems
12 MS. ELLIOTT: 12 to be consistent throughout your testimony, to
13 A. Sol wasreferring to this exhibit. The-3.6, 13 exclude data points, unlessyou have avery
14 the-1.7, that's what we used, the column 14 good reason to do that--how does that fit with
15 under the percentage change approach, though 15 what you' re doing now, which is excluding, as
16 excluding the high and the low based on the 16 amatter of course, data points?
17 percentage change from the prior period. If 17 MS.ELLIOTT:
18 we had used the actual dollar values and 18 A. Inthisparticular context, our point was that
19 excluded those points, the loss trend rates on 19 FA had excluded the low points, not the high
20 average would have been lower than if weused |20 points. There was not any information
21 the percentage change approach. Thatwasmy |21 provided by FA to explain for their book of
22 statement. 22 business why they were excluding those points.
23 MS. NEWBURY: 23 Thisisloss development factors. Thisis not
24 Q. Didyoudo the--you're showing here for the 24 trend rates. Thisisadifferent calculation.
25 five-year ending June 2012 atrend rate of 25 It'slooking at how costs--how the estimate
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1 over time, of estimating what those ultimate 1 acompany and--I can walk over and ask the
2 costs would be, what those values are, taking 2 claims staff is there something going on, did
3 averages. So how claims cost from 18 months 3 you change how you reserve things? | think
4 to 24 months, how they change. So it's 4 the onusis upon the actuary to go figure it
5 looking at that for each incremental period 5 out. Go talk to the claims people, go talk to
6 fro 6to 12,12 to 18. We look at the 6 the underwriters. Try to understand the data.
7 averages. FA,in calculating it, excluded the 7 Y ou may not get the answer, but at least you
8 lows and included the high points. They 8 tried, and it’s no different than presenting a
9 didn’t have a balanced approach. That's what 9 reform factor of -73 percent. We wouldn’t
10 we were taking issue with, and our point was 10 accept that. We would go and we'd talk to our
11 that it’s important to go back and understand 11 colleagues or talk to the claims staff and
12 the data, to ask questions, and that applied 12 say, areyou really seeing this, isthisreal,
13 to all the--you know, the elements that are 13 is this good--you know, is this a good number
14 presented. You haveto look at the results, 14 to present? | think that’s the actuary’ s job,
15 the output, and try as best you can to 15 and our approach for loss trend work isto
16 understand the results and seeif they make 16 take an averaging approach, we try to smooth
17 intuitive sense. | think that is the 17 itout. It's our judgement that that's a
18 actuary’sjob, not to just run amodel, look 18 reasonabl e approach. We exclude the two highs
19 at the P-test and T-est and R-sgquared and say, 19 and the two lows. If wejust excluded the
20 oh, you know, they’re good, I’'m done. | think 20 highs, you know, that wouldn’t be appropriate
21 it'smore than that. It's understanding the 21 either. We try to take a balanced approach
22 data, and that’simportant. And | believeif 22 and exclude the two highs and the two lows.
23 | was trying to make that point at that time, 23 The discussion back in 2002 wasthat FA was
24 I’ d be making the same point today. 24 not balanced, it excluded thelow value so
25 MS. NEWBURY: 25 they got ahigh loss development factor that
Page 150 Page 152
1 Q. Yeah, but Ms. Elliott, itistill data. | 1 ledto highlosstrend ratesthat led to a
2 realize that this is a focus on loss 2 higher indication. That was the driver or the
3 development and herewe're focusing on the 3 key issuein that filing.
4 trend rates, but--and you're critical, 4 MS. NEWBURY:
5 apparently, of what was happening back then, 5 Q. AndI think that the comment would equally
6 your observation that they were excluding the 6 apply in this hearing--that, you know, our
7 low points, but through our exercise this 7 perception is that it's clear from the
8 morning, you've identified that effectively, 8 evidence you'vetended to exclude the higher
9 through your percentage change approach, 9 points, and how is that a balanced approach?
10 you've actualy outlined or excluded as 10 MS. ELLIOTT:
11 outliersthe high points. More often than 11 A. Wdl, I acknowledge that if we had excluded,
12 not, you're excluding points that are 12 on adollar basis, the highs and the lows, the
13 sometimes over theline, even though you've 13 loss trend rate that we would have selected,
14 identified them as alow point. What analysis 14 al else being equal, would have been alarger
15 did you do, as an actuary, to go back and 15 negative than the -1.5 percent that we
16 check to see, should | exclude this? 16 presented for BI.
17 MS.ELLIOTT: 17 MS. NEWBURY:
18 A. | wishthat we could go back to thisindustry 18 Q. And we'll be interested in finding your
19 data for commercial vehicles and understand it 19 information about the statistics on that,
20 better. | wish we could understand the large 20 because | think that we'll find, and I'll put
21 swings from period to period that we looked 21 it to you, that your mechanical approach--when
22 at, you know, +95, -14, up and down. | wish 22 you've moved from the percentage change to the
23 we could, but that’s not possible. The data 23 dollar value, your mechanical approach of
24 isprovidedtous. Butif I’'mworking ina 24 excluding outliers, you know, regardless of
25 company--that was the point, if I’'m working in 25 how they might look from astatistical point
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1 of view, will result in poor statistics with 1 Q. Yeah. | mean, Ms. Elliott has referred to, a
2 your trend models, and | will request - 2 number of times, that she’s done a lot more
3 MS.ELLIOTT: 3 analysis and--aside from what’ s been presented
4 A Wdl, 1 can commenton that. Any of the 4 here. We've been of the impression that, you
5 statistics that are presented by anybody, FA 5 know, what’ s been produced is what’ s done, and
6 or Oliver Wyman, are not strong statistics. 6 she's referring to all of these wonderful
7 We're dealing with very few claims. So the 7 modelsthat she does and she has indicated
8 statistics presented by FA for its models are 8 that she can do them quite quickly, so | think
9 not strong, and | can assure you if | 9 it'sfair that she providethis. The other
10 presented statistics for any of the runs that 10 point is that she is now presenting a
11 we do, they’ re not going to be strong either. 11 different approach using the dollar value, and
12 We only have afew claims every year. There 12 she referred to trend rates from those lines,
13 iS no way you're going to get strong 13 and | think it’sfair that she provide it.
14 statistics. 14 MS. GLYNN:
15 MS. NEWBURY: 15 Q. Whichare notused inher findingsor her
16 Q. Ms. Elliott, I'mgoing to request that you 16 recommendations.
17 provide your lost costs 15-year regressions 17 MS. NEWBURY:
18 for the two periods. Actuadly, thisis | 18 Q. Wdl, she certainly referredto itin her
19 think what we requested yesterday, 1998H1 to 19 evidence. | mean, if she’s going to abandon -
20 2004H2, 2004H2 to 2012H2, and for property |20 MS.GLYNN:
21 damage and accident benefits aswell, and 21 Q. But that's not the basis for her
22 include fitted values, residuals, projected 22 recommendations.
23 valuesto 2015H2, andto includeyour fit 23 MS. NEWBURY:
24 statistics including your R-squared, the 24 Q. Wéll,it's certainly thereas part of her
25 adjusted R-squared and P-value, and your T- 25 evidence. | think it'sfair that we ask and
Page 154 Page 156
1 statistic, and charts showing the actual and 1 test that information.
2 fitted values from 1998H1 to 2015H2. And it’'s 2 MS. GLYNN:
3 requested that when you provide the charts, 3 Q. Ms. Hlliott, how long would it take you to do
4 because we' ve asked for other charts aswell, 4 that work?
5 if you could try to keep the periods of time 5 MS.ELLIOTT:
6 consistent, so include the same amount of data 6 A. Making sure that the graphs are as stated will
7 sothat you have the same year showing on 7 take some time, and | have tolook at the
8 your--on the line showing the years, just so 8 other things--it will take sometime. | don’t
9 that the scale of them will be consistent from 9 know how long, at this point.
10 one period of time to the next. |s that--want 10 MS. GLYNN:
11 to make sure that you understand what I'm 11 Q. I think we can provide that undertaking with
12 saying. (REQUEST) Sometimes the charts might 12 the understanding that it's goingto take
13 look different because you’' ve got a different 13 probably in excess of two weeks for usto do
14 period of time, but wewant to be able to 14 that. We spoke about aweek for some of the
15 compare the five-year with the ten-year with 15 undertakingsthat we had already given this
16 the 15-year so that the years line up. 16 morning. | don’t know if that affects our
17 MS.ELLIOTT: 17 timing for -
18 A. W€l try our best, yeah. 18 MS. NEWBURY:
19 MS. NEWBURY: 19 Q. Okay. If the charts are aproblem, you know,
20 Q. Thank you. 20 we can--yeah, we'll keep the stats but skip
21 MS.GLYNN: 21 the charts.
22 Q. Canl askthe reasonfor thisrequest? | 22 STAMP,Q.C.:
23 mean, | think that’s quite a body of work for 23 Q. Threeregressions.
24 Ms. Elliott to undertake in this hearing. 24 MS. GLYNN:
25 MS. NEWBURY: 25 Q. Doyou understand the request that's being
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1 made? 1 advises insurers that those insurers who wish
2 MS. ELLIOTT: 2 to usefactors other than those accepted by
3 A. | heardthree regressions, butthat's not 3 the Board will be required to provide
4 enough for me from - 4 satisfactory data supporting the chosen
5 MS. GLYNN: 5 factors and rationale why these selected
6 Q. Okay. 6 factors are more appropriate for us. You're
7 VICE-CHAIR WHALEN: 7 familiar with the Board's guideline in that
8 Q. Ms. Glynn, could | made a suggestion, and Ms. 8 regard?
9 Newbury, could you put your undertaking in 9 MS.ELLIOTT:
10 writing? That would just makeit alot easier 10 A. Yes.
11 and we won’'t have this. 11 MR. JOHNSON:
12 MS. NEWBURY: 12 Q. And Ms. Hlliott, inthis case, it's clear to
13 Q. Sure, that'sfine. Yeah. Thank you. Those 13 anybody that’ s witnessed this proceeding, read
14 areall thequestions | have for you, Ms. 14 the reports, that you do not believe, | take
15 Elliott. 15 it, that FA has put forward adequate
16 CHAIRMAN: 16 justification for their chosen factors and
17 Q. Soit'sovertoyou, Sir. 17 trends. So I'll ask you the question: in your
18 MS. PAULA ELLIOTT, CROSS-EXAMINATION BY MR. THOMAS |18 view, what type of information or datawould
19 JOHNSON 19 you expectto see in order to justify a
20 MR. JOHNSON: 20 departure from the Board's approved loss
21 Q. Thank you, Mr. Chairman. Ms. Elliott, I'll be 21 trends and development factors?
22 relatively brief, probably take about 20 22 MS. ELLIOTT:
23 minutes. Ms. Elliott, have you ever heard 23 A. It'smy opinion that FA’s selected loss trend
24 from Facility Associationin response to any 24 rate of +4.4 percent is premised on using the
25 of the prepared--the drafts such as we' ve seen 25 period 2004-2 to 2012-2. There’' s an exclusion
Page 158 Page 160
1 at caowi, which provides your analysis, which 1 of avery high point in there, which | believe
2 undergirds the Board' s directives as regards 2 is2012--2011-2, a high point, but they derive
3 loss selection or the trend rates or the loss 3 this4.4 percent starting with 2004-2, and
4 devel opment factors? 4 it's my view that because they use that time
5 MS.ELLIOTT: 5 period, and becausethe first two accident
6 A. It'smy understanding that FA has not provided 6 half yearsin that time period are quite low,
7 any comments that were sent to the Board or, 7 it drives up--so they start at alow point and
8 you know, subject to check, that would be my 8 end up here, and they end up with this+4.4
9 understanding. 9 percent. We spoke about the--1 spoke about
10 MR. JOHNSON: 10 the loss development factors that FA selected
11 Q. Okay, and there's--you know, we just finished 11 based on acombination of--that were GISA’'s
12 somewhat of a discussion about, you know, what |12 factors--that appear to be Gisa's factors,
13 I might politely all discovery-on-the-fly 13 that are losses and allocated |oss adjustment
14 here, but were you asked any RFisat al in 14 expenses as opposed to just losses, asthey
15 this proceeding about any of the background 15 had inferred in their report. That drives up
16 work that you did in relation to your report? 16 that 4.4 percent by almost a percentage point.
17 MS.ELLIOTT: 17 So there’ sthat issue. Then the other issue
18 A. None. 18 isthat assumingthat the reforms caused a
19 MR. JOHNSON: 19 great reduction in costs of 37 percent, then
20 Q. Ms. Elliott, asyou're aware, each timethis 20 FA is now starting with data at the low point,
21 Board issuesits approved losstrends and 21 2004-2, out to, you know, 2012-2, and because
22 development factors, the Board advises all 22 of that, they’re getting a higher trend rate.
23 insurers, including FA, that insurers may use 23 If FA had used one lessyear of data and
24 these factors without requirement for 24 started with 2005-2, they would get a couple
25 supporting dataor rationale, andit also 25 of point percentage drop in their trend rate.
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1 And if they bought into the common acceptance 1 toreally support that those reform factors
2 that the reformsdid not affect costto a 2 dropped the cost tothat degree, and yeah
3 material or measurable degree, if they had 3 that’ s--and more than a P-test.
4 used aten-year period, if they had used the 4 MR. JOHNSON:
5 modified loss adjustment expenses--sorry, |oss 5 Q. You referred several times yesterday and more
6 development factorsthat | refer to, they 6 times today, thatin your trend analysis
7 would havea much lower loss trend rate. 7 you' re attempting to strike a balance between
8 That’s probably along-winded answer for you, 8 responsiveness to the data and stability for
9 but that’s my comment on their selection. 9 each review you prepare, and 1'd like to ask
10 MR. JOHNSON: 10 you--thisis arate-making process that we're
11 Q. Sojust toget back, I'm sort of asking a 11 embarked upon here, how--explain the
12 question, almost a question out of principle. 12 significance or the importance, if you think
13 Y ou know that the Board receives areport from |13 it is gignificant or important, of
14 you, the report goes out for comment to those 14 responsiveness to the data and stability from
15 insurers who want to comment upon it, 15 each review inrelation to the rate-setting
16 indicating that you can usetheseor if you 16 process?
17 wish to depart from them, you can do that but 17 MS.ELLIOTT:
18 you' ve got to put forward justification. So 18 A. Wadll, the selected losstrend rateis alarge
19 from a general point of view, what sort of 19 driver of the rateindications, and what we
20 justification would you expect to see in order 20 are doing in preparing areport each six
21 to justify departure from what the Board has 21 months when the new data becomes available, is
22 said is reasonable. 22 to try and present what we think is--repeating
23 MS.ELLIOTT: 23 the words, but a reasonable value for the loss
24 A. Well, | mean, inthis particular case, | think 24 trend rate. Y ou know, the datais very thin;
25 that FA should justify avalue for the reform 25 it'slimited. So, you know, we believe that
Page 162 Page 164
1 factor that--I mean, it’s our opinion, we find 1 our approach of averaging and drawing in our
2 it intuitively unreasonable for the reform 2 prior selection strikes that balance of being
3 factors that are presented, and we're not 3 responsive and stable from review to review.
4 seeing reform factors of that level from other 4 It's no different than when we review arate
5 rate filingsthat are provided. FA, inits 5 filing and somebody completely changestheir
6 prior filing, said that thereformshad no 6 selection approach, for whatever element,
7 impact on cost, and because they’re doing 7 whether it’ s loss development factors, trend,
8 that, which seems completely out of keeping 8 credibility, any of the elementsin a rate
9 with other rate filings and what they 9 filing, we want to see some rationale for
10 themselves have presented in the past, | think 10 that. And if we wereto just change our
11 they need stronger justification that costs 11 approach in each report that we prepared, for
12 havereally reduced by 37 percent. And | 12 this body of data becauseit’s so volatile, we
13 don't mean aP-test or a T-test because | 13 would get pretty different answers each time.
14 till don’'t--you can have the best R-square, 14 So, we'retrying to present something that’'s
15 P-test, T-test that you want. | don't believe 15 useable to the insurers. An the insurers have
16 that AB costs reduced by 73 percent because of 16 the choice to use--you know, they want to use
17 some reforms or some other event in the second 17 alosstrend rate, they have to use the most
18 half of 2004. | think we get alot stronger 18 recent version of thelosstrend rates that
19 evidence of that, and as aresult of that kind 19 areavailable. And if we produced areport
20 of basic assumption that FA is sticking to, 20 that we thought, gee, we got the best fit and
21 they are now starting aloss trend model with 21 in the answer was -5 and six month later we
22 2004-2 data, which happensto be low just due 22 got another report and it was +5 because that
23 to the random nature of data, alow point, and 23 was the best fit. And then an insurer will
24 they end up with a higher loss trend rate. So 24 say, well, gee, | just filed my rates and |
25 what more information? They need to be able 25 used -5 and now two weeks later you say it’'s
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1 +5, you know, I’m not so happy with that. So, 1 MS.ELLIOTT:
2 you know, one of the things was that we want a 2 A. Because they're variable, as the premium
3 stable approach to what we're presenting 3 increases, the provision for underwriting or
4 because these are |losstrend rates that are 4 commission would increase aswell. And the
5 available for the insurersto use, if they so 5 underlying point that | think could be
6 choseto. Sothat’s part of the rationale of 6 addressed isis that actual cost to underwrite
7 having a stable approach to our selection. 7 and process the policy any different now if FA
8 MR. JOHNSON: 8 was to have arate increase that is proposed,
9 Q. Therewasalengthy discussion this morning of 9 of any sort, whether it's +15 percent or +20
10 the two approaches having to do with removing |10 percent. So, that isthe issue. Just because
11 data points, that being by percentage change 11 the premium goes up, do the actual cost for
12 versus dollar values. You indicated that in 12 handling and processing and issuing the paper,
13 hindsight you preferred to use dollar values 13 does that change?
14 and that would, | take it, have the effect of 14 MR. JOHNSON:
15 lowering the loss cost trend. 15 Q. Wereyou able, based upon therecord in this
16 MS. ELLIOTT: 16 proceeding with the request for information
17 A. Inthisparticular circumstance. 17 back and forth on the point from the Board to
18 MR. JOHNSON: 18 Facility, satisfy yourself on the point asto
19 Q. Inthisparticular circumstance. If you were 19 whether the reasonableness of these amounts
20 to use that dollar value approach, what would 20 can be confirmed?
21 it producein termsof arate indicationin 21 MS. ELLIOTT:
22 this particular application? 22 A. No, | mean, wedon't--as part of FA’'sfiling
23 MS. ELLIOTT: 23 they don’'t providewhat their actual costs
24 A. | don't know the answer to that. | would have 24 are. They include the provision that is
25 to do some calculations, but would lower it 25 stated in the FA Agreement. I'm not sure the
Page 166 Page 168
1 from the +20 percent that we have. 1 terminology of the document, but it's a
2 MR. JOHNSON: 2 contractual agreement between FA and the
3 Q. Okay. Could you providethat? (REQUEST) 3 servicing carriers for what they're allowed
4 MS.ELLIOTT: 4 for these servicesthat they provide. And
5 A. Yes 5 that is theinclusion that FA does when it
6 MR. JOHNSON: 6 calculatesitsrate indication. So, you know,
7 Q. Ms. Elliott, in relation to the expense 7 my opinion, they are doing the calculations
8 provision, in your report you observed that 8 according to the rules, but we're not provided
9 Facility Association assumes atotal variable 9 with what are the actual costs. We only know
10 expense provision of 20 percent of premium. 10 how much they load into the rates. So, they
11 And your report also observed that although 11 might load a certain number into the rates,
12 you found--and this is, I'm not sure of the 12 but | don’'t know what it actually costs them
13 page reference, you may not need to go there, 13 todoit.
14 | was going to provide you with what | took 14 MR. JOHNSON:
15 from it. Your report aso observed that 15 Q. Inrelation tothe owner/driver discount, |
16 although you found the expense provisionis 16 don’t know if the recent Facility undertakings
17 the accurately included in the calculation of 17 are on the computer system, are they?
18 the rate level change, you did note that there 18 MS. GLYNN:
19 was to be an actual average allowance per taxi 19 Q. Yes, I think we have them, yes.
20 of $463.00 to process and underwrite and 20 MR. JOHNSON:
21 $278.00 for commissions and you indicate that 21 Q. Okay. Would you mind bringing up FA’s answer
22 Board may wish to confirm the reasonableness |22 to undertaking 1107C? Thisbasicaly wasa
23 of these amounts. And what caused you to 23 request from meto Facility to provide how
24 raise this point or concern for the Board's 24 long thetwo existing underwriting rules,
25 attention? 25 being namely the discount for owner/operator

Discoveries Unlimited Inc., Ph: (709)437-5028

Page 165 - Page 168

Verbatim Court Reporters




November 18, 2014

Multi-Page™ Verbatim Court Reporters

Page 169 Page 171
1 and secondly the rating for dua usage 1 In this particular case for taxis, they have--
2 vehicles have been in place. And my focus now 2 one of their divisionsiswhether you're an
3 ison the first paragraph. In their response 3 owner/operator or not. So, if FA’s choiceto
4 they indicate that the owner/operator discount 4 remove it here, they’re proposal to remove it
5 has beenin Newfoundland for at least 15 5 would cost, all those being equal, they just
6 years. And they say "the FA’s Rates and Rules 6 remove that discount, would cause them to
7 Committee completed areview of the current FA | 7 collect more premium, but it's not a
8 rating manual and it was agreed that FA, due 8 justification that | can read here that says
9 toits position of market of last resort, 9 that that is thetechnically right thing to
10 should remove al discounts'. Ms. Elliott, do 10 do. That that discount is not supported. |
11 you accept that this provides a sound 11 don't know if that this discount ever
12 justification for the Facility Association to 12 supported, but it certainly--they haven't
13 ignore the risk differential between owners 13 provided information to say it is supported to
14 and non-owners? 14 remove it.
15 MS.ELLIOTT: 15 MR. JOHNSON:
16 A. No, it’'snot support to say that the discount 16 Q. From arisk perspective.
17 has no merit. What we've been focusing onin 17 MS.ELLIOTT:
18 thisreview isthetotal ratelevel need for 18 A. From arisk perspective, yes.
19 FA. A separate matter is, you know, how much 19 MS. GLYNN:
20 should you pay whether you're in this 20 Q. Mr.Johnson, just before we moveon, | just
21 territory or that territory or you're an 21 want to clarify for the Board records and for
22 owner/operator or you'renot. So, as | 22 the transcripts that was Undertaking 9. It's
23 understand it, there hasn’t been information 23 just a little bit differentinthe Board’s
24 support provided that would say that discount 24 records.
25 has not merit and should be excluded or 25 MR. JOHNSON:

Page 170 Page 172
1 removed. 1 Q. Okay.
2 MR. JOHNSON: 2 STAMP:
3 Q. $o,lguess-and | understand that thisis not 3 Q. Sorry, | didn't follow that.
4 asize of the pieissue, it's how you slice up 4 MS. GLYNN:
5 the pie. 5 Q. ItwasUndertaking 9. When Mr. Doherty filed
6 MS.ELLIOTT: 6 the undertakings, he had it listed at 11C and
7 A. Right. 7 just a differencein the record keeping,
8 MR. JOHNSON: 8 that’sall. Andif welook for that when we
9 Q. Butdo youhavea view point as to whether 9 go back to the transcript we probably wouldn't
10 it'svalidto say, look, we area market of 10 find it.
11 last resort, we are going to look to remove 11 MR. JOHNSON:
12 al discounts even if some of the discounts 12 Q. Findly on theterritoria differentiation,
13 arereflective of a change of risk between 13 and we recognize that that is, there's no
14 insured to insured. 14 change proposed in this application whereby
15 MS.ELLIOTT: 15 the territories would be differentiated at
16 A. Um-hm. 16 al. Butl waswondering if you have any
17 MR. JOHNSON: 17 views in connection with that topic, there was
18 Q. Would that beavalid - 18 an RFI or two from the Board on the question
19 MS. ELLIOTT: 19 and I'm just interested in your views on it.
20 A. Waéll, no, | mean, arate program has different 20 MS. ELLIOTT:
21 rating factorsand that’sthe idea, we know 21 A. Right. Well, that was interestingto see
22 what the total pot isthat we need. We need 22 because therewas a very clear difference
23 thismuch money and then we divideit up, 23 between the, | believe it was the loss ratios
24 depending upon maybe your driving record or 24 that were provided between the territories.
25 where you live and what type of car you drive. 25 There was a grouping of the territories. So,
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1 | think that’s an interesting avenue to 1 Q. Okay. Thosearemy questions, thank you.
2 pursue. If | livedin--if 1 wasa taxi 2 MS. GLYNN:
3 operator in the territories that were 3 Q. Wehadactualy agreed that Ms. Newbury, if
4 materially different, those loss ratios than 4 there was anything coming out of Mr. Johnson’s
5 the higher rated territory, I'd be interested 5 questions.
6 in having a lower rate that could be 6 STAMP,Q.C.:
7 supported, if possible, but on the other side 7 Q. Wehavenothing arising.
8 of the coin, the people in the other territory 8 MS. GLYNN:
9 that has the higher experience, they are going 9 Q. Thankyou. I'll beshort and sweet. | just
10 to haveto pay more. So, once the amount is 10 have a couple of points of clarification.
11 set, that isafair ratein total for FA, if 11 MS. PAULA ELLIOTT, CROSS-EEXAMINATION BY MS. JACQUI GLYNN
12 it's determined that you should have a split 12 MS. GLYNN:
13 by territory, some people are going to have to 13 Q. Ms Hlliott, have you changed anything in your
14 pay more and some people less. So | think of 14 analysis, mid hearing, of Fa’sfiling?
15 the statistic support that there should be a 15 MS ELLIOTT:
16 difference. | think that’s a good change, but 16 A. No,wehaveno. We did comment that due to an
17 at the same time there’ swinners and losersin 17 error made by FA in the transfer of its data
18 that process. 18 from the prior filing into this current
19 MR. JOHNSON: 19 filing, that error was found by the Consumer
20 Q. | guesswe're not dealing witha lot of 20 Advocates consulting actuary. And as a
21 commercia data and then we're dealing with 21 result, our findings are alittle bit lower, 1
22 not many taxi - 22 point lower.
23 MS. ELLIOTT: 23 MS.GLYNN:
24 A. Evenless. 24 Q. So,that’sthe only changethat you madeto
25 MR. JOHNSON: 25 your report filed May 16?
Page 174 Page 176
1 Q. -even less, | mean, how much comfort, how 1 MS.ELLIOTT:
2 much experience would you look toor whatsort | 2 A. Yes.
3 of standards would you employ in terms of the 3 MS.GLYNN:
4 amount of data that you’ d need before you - 4 Q. Ms. Elliott, what loss trend report was in
5 MS.ELLIOTT: 5 place and approved by the Board when Fa filed
6 A. There'snot much data, soif we sort of say, 6 this application in March of 20147
7 ohgee, I'dliketo seea credible sample, 7 MS.ELLIOTT:
8 that’ s not going to happen here. But what | 8 A. Theloss trend rate using datathrough to
9 would look at in this particular circumstance 9 December 2012.
10 is regarding though the severity isvolatile, 10 MS. GLYNN:
11 you know, you have really large claims and 11 Q. Andthat would be the report that’ sfilein ca
12 that makes the severity very high one year and 12 ow 1?
13 then not the next year, but in this 13 MS. ELLIOTT:
14 circumstance | would look at the claim 14  A. Correct.
15 frequency rate. What's the frequency rate of 15 MS. GLYNN:
16 claimsin thoseterritories that appear to 16 Q. Hasthat losstrend report been changed?
17 havethe lower loss ratios compared to the 17 MS.ELLIOTT:
18 frequency rate in the other territories with 18 A. No, it hasnot.
19 the higher loss ratios. Andif | could see 19 MS. GLYNN:
20 some consistency in the differences, that 20 Q. So, the changethat we' ve been talking about
21 would give me more comfort that there's, you 21 from the actual values to the percentage
22 know, maybe there is something to that data 22 values, when did you return to that use of the
23 that it’s meritith (phonetic) to pursue that 23 actual values?
24 idea of having different rates by territory. 24 MS. ELLIOTT:
25 MR. JOHNSON: 25 A. Well, we returned to that approach starting
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1 with the June 2013 report. 1 represents, yes, so we are on thefirst page
2 MS.GLYNN: 2 of the ten year models. PE Exhibit 7, it was
3 Q. So,what impact hasthat change to return to 3 circulated this morning.
4 the actual values have on the analysis and on 4 MS. NEWBURY:
5 this hearing? 5 Q. It's not part of Undertaking 20, it's a
6 MS.ELLIOTT: 6 Separate -
7 A. It doesn't have any impact on what we're 7 MS. GLYNN:
8 saying our findings are, our reported findings 8 Q. No, no.
9 in this hearing, no. 9 MS.NEWBURY:
10 MS. GLYNN: 10 Q. So, PEnumber 7?
11 Q. So, you stand by the analysis that you did for 11 MS. GLYNN:
12 your report of May 16 and for the analysis 12 Q. Yes
13 that you did for the last trend report filed 13 MS. NEWBURY:
14 with CA Ow 1. 14 Q. Thank you.
15 MS.ELLIOTT: 15 MS.ELLIOTT:
16 A. Yes 16 A. So,wetried to present the graph here using
17 MS. GLYNN: 17 ten yearsof dataand on thetop two graphs
18 Q. Okay. Ms. Elliott, you were asked to provide 18 are using the data through to June 2012. The
19 avisua aid circling the excluded data points 19 bottom two graphs are using the data through
20 0on sD 110 SD 4. 20 to December 2012. On theright hand side are
21 MS. ELLIOTT: 21 the points marked by a dot that represent the
22 A. Yes 22 points that were excluded ona percentage
23 MS. GLYNN: 23 basis. Andonthe left hand side what the
24 Q. Werethose the experience periods, the trend 24 dots would be if we had done the exclusion on
25 rate periods that you had used? 25 adollar valuebasis. So, we thought that
Page 178 Page 180
1 MS.ELLIOTT: 1 would be helpful to seethat there are some
2 A. No. Itdidn't display what--the time periods 2 differences in the points that would have been
3 that we had used, that was different. 3 excluded. Andthat’'sa ten year model and
4 MS. GLYNN: 4 then we can look at the five year model which
5 Q. Okay. So, Ms. Elliott, we have prepared PE 5 isthe next page.
6 Exhibit 7. I’d liketo bring that up please? 6 MS. GLYNN:
7 And Ms. Elliott, could you explain this 7 Q. So, that graphs on the right hand side of each
8 exhibit to us, please? 8 page show the data pointsthat you excluded
9 MS.ELLIOTT: 9 for the time periods that you used.
10 A. Sure. If you could make it smaller, please? 10 MS. ELLIOTT:
11 MR. MCNIVEN: 11 A. That’s correct.
12 Q. Doyouwant them all on the one page? 12 MS. GLYNN:
13 MS. ELLIOTT: 13 Q. Okay. And thegraphsontheleft hand side
14 A. Yes. So, this isour ten year model on the 14 show what you would have excluded had we used
15 left hand side are the model data points that 15 actual values, but the impact of those graphs
16 we would exclude if we were using the dollar 16 on this hearing?
17 value approach, the orange dots. And on the 17 MS.ELLIOTT:
18 right hand side are, in fact, data points that 18 A. There'snoimpact on this hearing, it'sjust
19 we excluded on a percentage basis. So, - 19 information that we shared.
20 STAMP, Q.C.: 20 MS. GLYNN:
21 Q. Justforthe record, can we make sure we're 21 Q. Thosearemy questions.
22 speaking about the right graph, are we in the 22 CHAIRMAN:
23 top left corner of Undertaking 207 23 Q. Doyou have any?
24 MS. GLYNN: 24 VICE-CHAIR:
25 Q. Ms. Elliottis explaining what each graph 25 Q. Noquestions.
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1 CHAIRMAN: 1 A, Right.
2 Q. ljustgot--sowhat you're basically telling 2 MS.NEWBURY:
3 usisthat the small accident population that 3 Q. Thank you, those are all my questions.
4 you're dealing with makes actuaria 4 CHAIRMAN:
5 calculation very difficult? 5 Q. | think we'refinished, thank you very much.
6 MS.ELLIOTT: 6 MS. GLYNN:
7 A. Yes, chalenging. 7 Q. Just one more point, Mr. Wells, sorry, just to
8 CHAIRMAN: 8 put on the record that we have agreed that the
9 Q. And if you had alarger population, your 9 hearing will conclude by way of written
10 resultswould be--you could determine your 10 submissions.
11 results much more accurately. 11 CHAIRMAN:
12 MS.ELLIOTT: 12 Q. Yes
13 A. You'dhave more confidencein your results, 13 MS. GLYNN:
14 yes. 14 Q. So, we will not be coming back to this
15 CHAIRMAN: 15 esteemed place. Submissionswill be made by
16 Q. Okay. I think that's- 16 Tuesday, December 16 and there will be an
17 MS. GLYNN: 17 opportunity to reply to anything raised in
18 Q. Mr.Wdlls, | think Ms. Newbury did actually 18 those submissions and that must be filed by
19 have a point of clarification. 19 Friday, December 19. You'refreeto go.
20 MS. NEWBURY: 20 CHAIRMAN:
21 Q. Yes,just on those PE Number 7, the graphs, 21 Q. Thank you.
22 theten years models, isthat including 21 22 Upon conclusion at 1:22 p.m.
23 data points for 10 1/2 years? It'shard for
24 meto read the actual valuesthere on that
25 graph.
Page 182 Page 184
1 MS. ELLIOTT: 1 CERTIFICATE
2 A. | think we started, we put in the first point 2 |, Judy Moss, hereby certify that the foregoing is
3 was twenty--sorry, | can’'t seethe scale-- 3 atrue and correct transcript in the matter of a Facility
4 therewe go. You know, I'm sorry, | can’t 4 Association Application re: Taxi and Limousine Automobile
5 read that. 5 Insurance Rates heard on the 18th day of November, 2014
6 MS.NEWBURY: 6 before the Board of Commissioners of Public Utilities,
7 Q. Okay, I'mhaving the samedifficulty. It's 7 120 Torbay Road, St. John's, Newfoundland and Labrador
8 been pointed out that the are 21 dashes there, 8 and was transcribed by me to the best of my ability by
9 would there be adash for every point? Is 9 means of a sound apparatus.
10 that away to sort that out? 10 Dated at St. John's, Newfoundland and L abrador
11 MS. ELLIOTT: 11 this 18th day of November, A.D., 2014
12 A. Probably because we're using the June period, 12 Judy Moss
13 like when we do, ending June it shifts up one, 13 Discoveries Unlimited Inc.
14 so we showed it all.
15 MS. NEWBURY:
16 Q. So,itwould betenand ahalf years, where
17 you've done aten year and then you shifted it
18 back half ayear.
19 MS.ELLIOTT:
20 A. Yes
21 MS.NEWBURY:
22 Q. Okay, and the same for the five year models on
23 the next page. That would 11 data points, 5
24 12 years?
25 MS.ELLIOTT:
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